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General  Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 69/MAY/4, Set u on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.

6. In case of any doubt or confusion in the Question Paper, the English version
will prevail.
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gm‘mÝ¶ AZwXoe :

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ^r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ u {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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Note  : (i) This Question Paper consists of 51 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Attempt all questions either from Option Module—6A or Option
Module—6B in all Sections.

(v) Section–A consists of—

(a) Question Nos. 1 to 20—Multiple Choice-type Questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 21 to 35—Objective-type Questions carrying 2 marks
each (with 2 sub-parts of 1 mark each). Attempt these questions as
per the instructions given for each of the questions.

(vi) Section–B consists of—

(a) Question Nos. 36 to 41—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 42 to 47—Short Answer-type Questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 48 to 50—Long Answer-type Questions carrying
5 marks each to be answered in the range of 80 to 120 words.

(d) Question No. 51—Map-based question carrying 5 marks. (Alternative
questions are given in lieu of map-based question for Visually
Impaired candidates)

An internal choice has been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 51 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&

(iv) g^r IÊS>m| ‘| d¡H$pënH$ ‘m°S²>¶yb—6A Am¡a d¡H$pënH$ ‘m°S²>¶yb—6B dmbo àíZm| ‘| go Ho$db EH$
{dH$ën H$m hr CÎma {bIZm h¡&
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(v) IÊS>–H$
(a) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡& BZ àíZm| ‘|

{XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$mo MwZH$a CÎma Ho$ ê$n ‘| {b{IE&
(b) àíZ g§»¶m 21 go 35 Xmo-Xmo A§H$ dmbo dñVw{Zð> àH$ma Ho$ àíZ h¡§& Eogo àË¶oH$ àíZ ‘|

1 A§H$ Ho$ Xmo Cn^mJ h¢& BZ àíZm| Ho$ CÎma {XE JE {ZX}emZwgma {b{IE&

(vi) IÊS>–I
(a) àíZ g§»¶m 36 go 41 A{V bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$ H$m h¡, {OgH$m

CÎma 30 go 50 eãXm| ‘| {bIZm h¡&
(b) àíZ g§»¶m 42 go 47 bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 3 A§H$ H$m h¡, {OgH$m CÎma

50 go 80 eãXm| ‘| {bIZm h¡&
(c) àíZ g§»¶m 48 go 50 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 5 A§H$ H$m h¡, {OgH$m

CÎma 80 go 120 eãXm| ‘| {bIZm h¡&
(d) àíZ g§»¶m 51 ‘mZ{MÌ na AmYm[aV àíZ h¡, Omo 5 A§H$ H$m h¡& (Ñ{ï>~m{YV narjm{W©¶m| Ho$

{bE ‘mZ{MÌ na AmYm[aV àíZ Ho$ ñWmZ na d¡H$pënH$ àíZ {XE JE h¢)
BZ‘| go Hw$N> àíZm| ‘| AmÝV[aH$ {dH$ën àXmZ {H$¶m J¶m h¡& Eogo àíZm| ‘| AmnH$mo Ho$db {H$gr
EH$ {dH$ën H$m hr CÎma {bIZm h¡&

SECTION–A

IÊS>–H$

1. Which one of the following was the center of education for Mahayana
Buddhism during ancient India? 1

(A) Nalanda (B) Kannauj

(C) Vatapi (D) Kanchi

{ZåZ{b{IV ‘| go àmMrZ ^maV ‘| ‘hm¶mZ ~m¡Õ Y‘© H$m {ejm H|$Ð H$m¡Z-gm Wm?
(A) ZmbÝXm (B) H$Þm¡O
(C) dmVmnr (D) H$m±Mr

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Who was the Chinese Buddhist pilgrim who visited Western India during
the reign of Chandragupta II? 1

(A) Fa-Hien (B) Hiuen Tsang

(C) I-tsing (D) Marco Polo

M§ÐJwá {ÛVr¶ Ho$ emgZH$mb ‘| {H$g MrZr ~m¡Õ VrW©¶mÌr Zo npíM‘r ^maV H$s ¶mÌm H$s Wr?

(A) ’$mømZ (B) ôZ Ëgm§J

(C) BpËg¨J (D) ‘mH$m} nmobmo

3. Which of the following correctly shows the four Ashramas of life as
mentioned in Indian tradition? 1

(A) Childhood, Adolescence, Adulthood, Old age

(B) Brahmacharya, Grihastha, Vanaprastha, Sannyasa

(C) Student life, Work life, Retirement, Spiritual life

(D) Birth, Growth, Decline, Death

{ZåZ{b{IV ‘| go H$m¡Z-gm ^maVr¶ na§nam ‘| d{U©V OrdZ Ho$ Mma Aml‘m| H$mo ghr T>§J go Xem©Vm h¡?

(A) ~MnZ, {H$emoamdñWm, d¶ñH$Vm, ~w‹T>mnm

(B) ~«÷M¶©, J¥hñW, dmZàñW, g§Ý¶mg

(C) {dÚmWu OrdZ, H$m¶©OrdZ, godm{Zd¥{Îm, AmÜ¶mpË‘H$ OrdZ

(D) OÝ‘, {dH$mg, õmg, ‘¥Ë¶w

4. Who was responsible to protect the laws of the Shariat during the Delhi
Sultanate? 1

(A) Sadr-us-Sudur (B) Mir Saman

(C) Shiqdar (D) Amil

{X„r gëVZV Ho$ g‘¶ ‘| ear¶V Ho$ H$mZyZm| H$s ajm Ho$ {bE H$m¡Z {Oå‘oXma Wm?

(A) gÐ-Cg-gwXÿa (B) ‘ra gm‘m±

(C) {e³Xma (D) Am{‘b
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5. With the help of the following information, identify the administrator of the
Mughal Empire : 1

• He was the revenue collector.

• He used to maintain all accounts.

• He used to send the daily receipt and expenditure report

to the provincial Diwan.

(A) Mutasaddi (B) Amalguzar

(C) Muqaddam (D) Qiladar

{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go ‘wJb gm‘«mÁ¶ Ho$ àemgH$ H$s nhMmZ H$s{OE :

• dh amOñd g§J«hH$Vm© Wm&

• dh g^r ImVm| H$m aIaImd H$aVm Wm&

• dh X¡{ZH$ àm{á Am¡a ì¶¶ [anmoQ>© àm§Vr¶ XrdmZ H$mo ^oOVm Wm&

(A) ‘wVmgÔr (B) A‘bJwOma

(C) ‘wH$Ô‘ (D) {H$bmXma

6. Who amongst the following Mughal rulers spent a huge amount of money
on conflicts in the Deccan? 1

(A) Akbar (B) Shah Jahan

(C) Aurangzeb (D) Babur

BZ‘| go {H$g ‘wJb emgH$ Zo X¸$Z joÌ ‘| g§Kfm] na ^mar ‘mÌm ‘| YZ IM© {H$¶m?

(A) AH$~a (B) emhOhm±

(C) Am¡a§JOo~ (D) ~m~a

7. Identify the ruler of the Delhi Sultanate with the help of the following
information : 1

• He started a new department for the development of agriculture

called Diwan-i-Kohi.

• He introduced token currency to tide over the shortage of silver.

• He transferred his capital from Delhi to Deogir (Daulatabad).

(A) Firoz Tughlaq (B) Muhammad Tughlaq

(C) Ghiyasuddin Tughlaq (D) Ghazi Malik
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{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go {X„r gëVZV Ho$ emgH$ H$s nhMmZ H$s{OE :

• H¥${f Ho$ {dH$mg Ho$ {bE ZE {d^mJ H$m {Z‘m©U H$am¶m {Ogo "XrdmZ-E-H$mohr'
H$hm J¶m&

• CgZo Mm±Xr H$s H$‘r go {ZnQ>Zo Ho$ {bE Q>moH$Z ‘wÐm ewê$ H$s&

• CgZo AnZr amOYmZr {X„r go Xod{Ja (Xm¡bVm~mX) ñWmZm§V[aV H$a Xr&

(A) {’$amoO VwJbH$ (B) ‘whå‘X VwJbH$

(C) ½¶mgwÔrZ VwJbH$ (D) JmµOr ‘{bH$

8. Read the statements given below and choose the correct option from the
following : 1

I. The first Muslim ruler of Kashmir was Shamsuddin Shah.

II. Zain-ul Abidin abolished ‘Jizya’ and prohibited cow slaughter.

III. Zain-ul Abidin ordered the translation of the Mahabharata and
Rajatarangini into Persian.

IV. In AD 1588, Kashmir was annexed by Akbar.

Options :

(A) I, II and III (B) I, II and IV

(C) I, III and IV (D) II, III and IV

ZrMo {XE JE H$WZm| H$mo n{‹T>E Am¡a {ZåZ{b{IV ‘| go ghr {dH$ën H$m M¶Z H$s{OE :

I. eågwÔrZ emh H$í‘ra H$m nhbm ‘wpñb‘ emgH$ Wm&

II. O¡Zwb Am{~{XZ Zo "O{O¶m' H$a hQ>m¶m Am¡a Jm¡dY na à{V~§Y bJm¶m&

III. O¡Zwb Am{~{XZ Zo "‘hm^maV' VWm "amOVa§{JUr' H$mo ’$magr ‘| AZwdmX H$aZo H$s Amkm Xr&

IV. 1588 B©0 ‘| AH$~a Zo H$í‘ra na H$ãµOm H$a {b¶m&

{dH$ën :

(A) I, II Am¡a III (B) I, II Am¡a IV

(C) I, III Am¡a IV (D) II, III Am¡a IV
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9. Which regional State became the Buffer State of the British? 1

(A) Punjab (B) Awadh

(C) Nepal (D) Mysore

H$m¡Z-gm joÌr¶ amÁ¶ A§J«oµOmo§ H$m ~’$a amÁ¶ ~Z J¶m?

(A) n§Om~ (B) AdY

(C) Zonmb (D) ‘¡gya

10. Who founded the Asiatic Society of Bengal? 1

(A) Warren Hastings (B) William Jones

(C) Jonathan Duncan (D) Wellesley

E{e¶m{Q>H$ gmogmBQ>r Am°’$ ~§Jmb H$s ñWmnZm {H$gZo H$s?

(A) dmaoZ hopñQ>¨½g (B) {d{b¶‘ OmoÝg

(C) OmoZmWZ S>§H$Z (D) doboñbr

11. When was the Treaty of Paris signed? 1

(A) 1760 (B) 1761

(C) 1762 (D) 1763

no[ag H$s g§{Y na H$~ hñVmja {H$E JE Wo?

(A) 1760 (B) 1761

(C) 1762 (D) 1763

12. Choose the correct option from the following regarding the causes of the
failure of the Revolt of 1857 : 1

I. The rebels had limited supply of arms and ammunitions.

II. The British had sufficient resources and also better arms and
equipments.

III. There was a lack of communication and centralized leadership among
the rebels.

IV. Being gentle with Sepoys and Taluqdars

Options :

(A) I, II and III (B) II and III

(C) I and IV (D) All of the above
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gZ² 1857 Ho$ {dÐmoh H$s Ag’$bVm Ho$ H$maUm| Ho$ g§~§Y ‘| ZrMo {XE JE {dH$ënm| ‘| go ghr H$m
M¶Z H$s{OE :

I. {dÐmo{h¶m| Ho$ nmg h{W¶mam| Am¡a Jmobm-~mê$X H$s gr{‘V ‘mÌm hmoVr Wr&

II. {~«{Q>em| Ho$ nmg n¶m©á g§gmYZ Am¡a ~ohVa h{W¶ma VWm CnH$aU Wo&

III. {dÐmo{h¶m| ‘| g§Mma Am¡a H|$Ðr¶ ZoV¥Ëd H$s H$‘r Wr&

IV. {gnm{h¶m| Am¡a VmbwH$Xmam| Ho$ gmW {dZ‘« ì¶dhma&

{dH$ën :

(A) I, II Am¡a III (B) II Am¡a III

(C) I Am¡a IV (D) Cn¶w©º$ g^r

13. How did colonial rule exploit India economically? 1

(A) By promoting local industries and self-sufficiency

(B) By imposing heavy taxes and an unequal trade

(C) By investing in indigenous businesses and labour welfare

(D) By encouraging Indian farmers to sell directly in global markets

Am¡n{Zdo{eH$ emgZ Zo ^maV H$m Am{W©H$ emofU {H$g àH$ma {H$¶m?

(A) ñWmZr¶ CÚmoJm| Am¡a AmË‘{Z^©aVm H$mo ~‹T>mdm XoH$a

(B) ^mar H$a bJmH$a Am¡a Ag‘mZ ì¶mnma H$aHo$

(C) ñdXoer ì¶dgm¶ Am¡a l‘ H$ë¶mU ‘| {Zdoe H$aHo$

(D) ^maVr¶ {H$gmZm| H$mo d¡pídH$ ~mµOmam| ‘| grYo AnZr CnO ~oMZo Ho$ {bE àmoËgm{hV H$aHo$

14. Who amongst the following was the writer of the book, Poverty and
Un-British Rule in India? 1

(A) Hansa Mehta (B) Jawaharlal Nehru

(C) Lala Lajpat Rai (D) Dadabhai Naoroji

BZ‘| go "nm°dQ>u E|S> AZ-{~«{Q>e ê$b BZ B§{S>¶m' Zm‘H$ nwñVH$ Ho$ boIH$ H$m¡Z Wo?

(A) h§gm ‘ohVm (B) Odmhabmb Zohê$

(C) bmbm bmOnV am¶ (D) XmXm^mB© Zm¡amoOr
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15. Who introduced the festival of Ganapati in Maharashtra as a religious
platform to spread nationalist ideas? 1

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi

(C) Gopal Krishna Gokhale (D) Subhas Chandra Bose

amï´>dmXr {dMmam| H$mo ’¡$bmZo Ho$ {bE Ym{‘©H$ ‘§M Ho$ ê$n ‘| ‘hmamï´> ‘| JUn{V CËgd H$s ewéAmV
{H$gZo H$s?

(A) ~mb J§JmYa {VbH$ (B) ‘hmË‘m Jm±Yr

(C) Jmonmb H¥$îU JmoIbo (D) gw^mf M§Ð ~mog

16. The Progressive Writers’ Association was formed by master poets like

(A) Pablo Neruda and Lu Hsun (B) Majaz and Josh

(C) Rabindranath Tagore and Josh (D) A. J. Ayer and Wittgenstein 1

àJ{Verb boIH$ g§K H$m JR>Z ‘hmZ H${d¶m| O¡go _____ Am¡a _____ Zo {H$¶m&

(A) nmãbmo Zoê$Xm Am¡a by hgyZ (B) ‘OmµO Am¡a Omoe

(C) adrÝÐZmW Q>¡Jmoa Am¡a Omoe (D) E0 Oo0 Aæ¶a Am¡a {dQ>OoÝñQ>rZ

17. In which year under new constitution did Russia become the Union of
Soviet Socialist Republics (USSR)? 1

(A) 1936 (B) 1924

(C) 1918 (D) 1977

{H$g df© ZE g§{dYmZ Ho$ VhV ê$g gmo{d¶V g‘mOdmXr JUamÁ¶m| H$m g§K (¶y0 Eg0 Eg0 Ama0)
~Z J¶m?

(A) 1936 (B) 1924

(C) 1918 (D) 1977

18. Identify the countries with the help of the following information : 1

• These two countries signed a Five-Year Non-Aggression

Treaty in 1941.

• These two countries maintained harmony during the

Yalta Conference.

• Both were part of the Second World War.

(A) Britain and France (B) The USA and the Soviet Union

(C) Germany and Italy (D) Japan and Germany
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{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go Xoem| H$s nhMmZ H$s{OE :

• BZ XmoZm| Xoem| Zo 1941 ‘| nm±M-dfu¶ AZmH«$‘U g§{Y na hñVmja {H$E Wo&

• ¶mëQ>m gå‘obZ Ho$ Xm¡amZ XmoZm| Xoem| Zo gm¡hmX© ~ZmE aIm&

• XmoZm| hr {ÛVr¶ {díd ¶wÕ H$m {hñgm Wo&

(A) {~«Q>oZ Am¡a ’«$m§g (B) ¶y0 Eg0 E0 Am¡a gmo{d¶V g§K

(C) O‘©Zr Am¡a BQ>br (D) OmnmZ Am¡a O‘©Zr

19. When was the Mauryan Empire established? 1

(A) 320 BC (B) 321 BC

(C) 322 BC (D) 323 BC

‘m¡¶© gm‘«mÁ¶ H$s ñWmnZm H$~ hþB© Wr?

(A) 320 B©0 ny0 (B) 321 B©0 ny0

(C) 322 B©0 ny0 (D) 323 B©0 ny0

20. Which of the following statements are correct regarding the appointment
of company officials during the British rule? 1

I. Cornwallis created a professional cadre of company servants who had
general salaries.

II. All high-level posts were reserved for the Britishers.

III. Selection of candidates for different posts was done entirely on merit
through an examination which was based on the American model.

IV. The Civil Servants enjoyed political power which no bureaucrat had in
England.

Options :

(A) I, II and III (B) I, II and IV

(C) I, III and IV (D) II, III and IV
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{~«{Q>e emgZ Ho$ Xm¡amZ H§$nZr A{YH$m[a¶m| H$s {Z¶w{º$ Ho$ g§~§Y ‘| {ZåZ{b{IV ‘| go H$m¡Z-go H$WZ
ghr h¢?

I. H$m°Z©dm{bg Zo H§$nZr Ho$ Eogo godH$mo§ H$m EH$ noeoda dJ© V¡¶ma {H$¶m {OZH$mo gm‘mÝ¶ doVZ
{‘bVm Wm&

II. g^r CƒñVar¶ nX {~«{Q>em| Ho$ {bE Ama{jV Wo&

III. {d{^Þ nXm| Ho$ {bE Cå‘rXdmam| H$m M¶Z nyar Vah go A‘o[aH$s ‘m°S>b na AmYm[aV narjm Ho$
‘mÜ¶‘ go ¶mo½¶Vm Ho$ AmYma na {H$¶m J¶m Wm&

IV. {g{db godH$m| H$mo amOZr{VH$ e{º$ àmá Wr, Omo B§½b¢S> ‘| {H$gr ^r Zm¡H$aemh Ho$ nmg Zht Wr&

{dH$ën :

(A) I, II Am¡a III (B) I, II Am¡a IV

(C) I, III Am¡a IV (D) II, III Am¡a IV

21. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) _____, the God of Storm aided Indra in the wars in the way tribesmen
aided their leader in the tribal wars.

ndZ Xod _____, ¶wÕm| ‘| BÝÐ H$s Cgr àH$ma ghm¶Vm H$aVo Wo, O¡go OZOmVr¶ bmoJ OZOmVr¶
¶wÕm| ‘| AnZo Zm¶H$m| H$s ghm¶Vm H$aVo h¢&

(b) _____, the Fire God was the God of the home and was considered an
intermediary between Gods and men.

_____ AmJ Ho$ XodVm Ka Ho$ XodVm Wo Am¡a CÝh| XodVmAm| Am¡a ‘Zwî¶m| Ho$ ~rM ‘Ü¶ñW ‘mZm
OmVm Wm&

22. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) The early Vedic Aryans lived in the area known as _____ meaning the
area of seven rivers.

àma§{^H$ d¡{XH$ Am¶© bmoJ Cg joÌ ‘| ahVo Wo {Ogo _____ H$hm OmVm Wm, {OgH$m AW© h¡ gmV
Z{X¶m| H$m joÌ&

(b) The main profession of early Vedic Aryans was _____.

àma§{^H$ d¡{XH$ Am¶m] H$m ‘w»¶ ì¶dgm¶ _____ Wm&
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23. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The Turks are credited with bringing musical instruments like _____
and _____ into South Asia.

VwH$m] H$mo X{jU E{e¶m ‘| _____ Am¡a _____ O¡go g§JrV dmÚ¶§Ìm| H$mo bmZo H$m lo¶ {X¶m
OmVm h¡&

24. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Decorative styles were usually in the form of calligraphy, _____ figures
and _____ during the Mughal period.

‘wJb H$mb Ho$ Xm¡amZ gOmdQ>r e¡{b¶m± Am‘Vm¡a na gwboI, _____ AmH¥${V¶m| Am¡a _____ Ho$ ê$n
‘| hmoVr Wt&

25. Answer the following in one word/one phrase regarding the administrative
institutions of medieval India : 1×2=2

‘Ü¶H$mbrZ ^maV Ho$ àemg{ZH$ g§ñWmZm| Ho$ g§X^© ‘|, {ZåZ{b{IV àíZm| Ho$ CÎma EH$ eãX ¶m EH$
dm³¶m§e ‘| Xr{OE :

(a) Jagirs that were assigned to Zamindars or Rajas in their local
dominions

OmJra| Omo O‘tXmam| Am¡a amOmAm| H$mo CZHo$ ñWmZr¶ à^wËd ‘| gm¢nr OmVr Wt

(b) Jagirs that were given to Muslim nobles in their family towns or place
of birth

OmJra| Omo ‘wpñb‘ Hw$brZ (A{^OmV) H$mo CZHo$ nm[adm[aH$ ZJa AWdm OÝ‘ñWmZ ‘| Xr
OmVr Wt
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26. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The Mappilas of Malabar were the descendants of the _____ settlers and
converted _____.

‘mbm~ma Ho$ ‘pßnbm ¶hm± ~g JE _____ Om{V Ho$ bmoJm| Ho$ d§eO Wo Am¡a do Y‘© n[adV©Z H$a
_____ ~Zo Wo&

27. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The Nawab Mir Qasim attempted to reorganize the army and shift the
capital from _____ to _____.

Zdm~ ‘ra H$m{g‘ Zo goZm H$mo g§J{R>V H$aZo H$m à¶ËZ {H$¶m Am¡a CgZo amOYmZr _____ go _____

ñWmZm§V[aV H$s&

28. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

(a) Fort William College was founded by _____ in 1801 to train the young
British recruits to the Civil Service in India.

gZ² 1801 ‘| _____ Zo ’$moQ>© {d{b¶‘ H$m°boO H$s ñWmnZm, ^maV ‘| {g{db godm Ho$ {bE ¶wdm
{~«{Q>e a§Jê$Q>m| H$mo à{e{jV H$aZo Ho$ {bE H$s Wr&

(b) Cornwallis succeeded in laying the foundation of a strong liberal
policy in the governance of _____.

H$m°Z©dm{bg _____ Ho$ emgZ ‘| EH$ ‘O~yV CXmaZr{V H$s Ztd aIZo ‘| g’$b ahm&

29. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Along with the freedom of India came the partition of the land in two
Nation-States namely _____ and _____.

^maV H$s ñdV§ÌVm Ho$ gmW hr ^y{‘ H$m {d^mOZ Xmo amï´>-amÁ¶m| AWm©V² _____ Am¡a _____

‘| hþAm&
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30. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) In Europe, the development of _____ was the result of the fundamental
changes that were taking place in society and economy around the
18th century.

¶yamon ‘| _____ H$m {dH$mg 18dt eVmãXr Ho$ Amgnmg g‘mO Am¡a AW©ì¶dñWm ‘| hmo aho ‘yb^yV
n[adV©Zm| H$m n[aUm‘ Wm&

(b) Uniformity in communication systems resulted in the creation of a
_____ and reinforced national boundaries.

g§Mma àUm{b¶m| ‘| EH$ê$nVm Ho$ n[aUm‘ñdê$n _____ H$m {Z‘m©U hþAm Am¡a amï´>r¶ gr‘mE±
gwÑ‹T> hþBª&

31. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

In a 1981 survey of religious beliefs in the USA, only about _____
percent of people described themselves as _____.

1981 ‘| A‘o[aH$m ‘| Ym{‘©H$ {dídmgm| Ho$ EH$ gd}jU ‘| Ho$db _____ à{VeV bmoJ hr IwX
H$mo _____ ~VmVo h¢&

Attempt questions either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZm| Ho$ CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

32. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

_____ was a Chagatai Turk who fled patrimonial lands near _____ to
escape Uzbek armies.

_____ MJVmB© VwH©$ Wm Omo CO~oH$ goZmAm| go ~MZo Ho$ {bE _____ Ho$ nmg AnZr nwíV¡Zr O‘rZ|
N>mo‹S>H$a ^mJ {ZH$bm Wm&
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33. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The existence of the State during early times was primarily dependent
on two factors _____ and _____.

àma§{^H$ H$mb ‘| amÁ¶ H$m ApñVËd ‘w»¶V… Xmo H$maH$m| na {Z^©a Wm _____ Am¡a _____&

34. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Iltutmish introduced coins of _____ and _____.

BëVwV{‘e Zo _____ Am¡a _____ Ho$ {g o̧$ MbmE&

35. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

From the 1820s to the 1850s, the British demonstrated a strong urge
to change Indian social institutions, and to _____ India. The Britishers
abolished _____ and eliminated dacoits from the highways.

gZ² 1820 Ho$ XeH$ go 1850 Ho$ XeH$ VH$ {~«{Q>em| Zo ^maVr¶ gm‘m{OH$ g§ñWmAm| H$mo ~XbZo
Am¡a ^maV H$m _____ H$aZo H$s à~b bmbgm {XImB©& {~«{Q>em| Zo _____ H$m CÝ‘ybZ H$a {X¶m
Am¡a amO‘mJm] go S>H¡$Vm| H$mo CIm‹S> ’|$H$m&

OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

32. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) Religion through the ages inspired some of our best poetries
and _____.

g{X¶m| go Mbo Am aho Y‘©, h‘mar Hw$N> ~ohVarZ H${dVmAm| Am¡a _____ H$mo ào[aV H$aVo h¢&

(b) Muslim and _____ women in Tamil Nadu usually wear saris.

V{‘bZmSw> ‘| ‘wpñb‘ Am¡a _____ ‘{hbmE± Am‘Vm¡a na gm‹S>r nhZVr h¢&
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33. Write True or False : 1×2=2

ghr ¶m JbV {b{IE :

(a) Manuscript production became a specialized art in modern times.

AmYw{ZH$ g‘¶ ‘| nm§Sw>{b{n {Z‘m©U EH$ {deof H$bm ~Z JB© h¡&

(b) The knowledge of writing reappeared around the 3rd century BC.

boIZ H$m kmZ Vrgar eVmãXr B©0 ny0 Ho$ Amgnmg nwZ… àH$Q> hþAm&

34. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) Definite evidence of the use of cotton from _____, one of the largest
cities of the Harappan Civilization.

h‹S>ßnm gä¶Vm Ho$ g~go ~‹S>o eham| ‘| go EH$ _____ go H$nmg Ho$ Cn¶moJ Ho$ {ZpíMV gmú¶
{‘bo h¢&

(b) The earliest literary reference to the loom on which cloth is woven,
comes from the _____ Veda.

H$n‹S>o ~wZZo dmbo H$aKo Ho$ ~mao ‘| àmMrZV‘ g§X^© _____ doX ‘| {‘bVm h¡&

35. Answer the following in one word/one phrase : 1×2=2

{ZåZ{b{IV Ho$ CÎma EH$ eãX ¶m EH$ dm³¶m§e ‘| Xr{OE :

(a) A scholar who analyzes material remains of past societies and helps
us to understand them

AVrV Ho$ g‘mO Ho$ ^m¡{VH$ Adeofm| H$m {díbofU H$aZo dmbm Am¡a CÝh| g‘PZo ‘| h‘mar ‘XX
H$aZo dmbm {dÛmZ

(b) Refers to the tendency to want more goods and services than are
actually necessary, sometimes even if these cannot be afforded

dmñV{dH$ Oê$aVm| H$s VwbZm ‘| Á¶mXm dñVwE± Am¡a godmE± MmhZo Am¡a H$^r-H$^r gm‘Ï¶© Z hmoZo
Ho$ ~mdOyX CÝh| nmZo H$s BÀN>m aIZo H$s àd¥{Îm
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SECTION–B

IÊS>–I

36. Explain the status of women in early Vedic society. 2

àma§{^H$ d¡{XH$ g‘mO ‘| ‘{hbmAm| H$s pñW{V H$s ì¶m»¶m H$s{OE&

Or / AWdm

Why was Kanishka considered as an important ruler of the Kushana
dynasty? Explain.

H${ZîH$ H$mo Hw$fmU d§e H$m EH$ ‘hÎdnyU© emgH$ ³¶m| ‘mZm OmVm h¡? ñnï> H$s{OE&

37. Describe the main points of the aggreement between the Mughals and
Bijapur during Shah Jahan’s reign. 2

emhOhm± Ho$ emgZH$mb Ho$ Xm¡amZ ‘wJb Am¡a ~rOmnwa Ho$ ~rM g‘Pm¡Vo Ho$ ‘w»¶ q~XþAm| H$m dU©Z H$s{OE&

38. Explain the key features of the central administration of the Marathas. 2

‘amR>m| Ho$ H|$Ðr¶ àemgZ H$s à‘wI {deofVmAm| H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain the responsibilities of the Bakshi in the Mughal administrative
apparatus.

‘wJb àemg{ZH$ V§Ì ‘| ~³er H$s {Oå‘oXm[a¶m| H$mo ñnï> H$s{OE&

39. ‘‘The Sepoys had their own reasons for resentment in the Revolt of 1857.’’
Examine the statement. 2

""gZ² 1857 Ho$ {dÐmoh ‘| {gnm{h¶m| H$s ZmamOJr Ho$ AnZo H$maU Wo&'' Bg H$WZ H$s naI H$s{OE&

40. How have the advances of western ideas across the globe influenced
traditional cultures and social structures in different societies? Explain. 2

Xþ{Z¶m ^a ‘| npíM‘r {dMmam| Zo {d{^Þ g‘mOm| ‘| nma§n[aH$ g§ñH¥${V¶m| Am¡a gm‘m{OH$ g§aMZmAm| H$mo
H¡$go à^m{dV {H$¶m? ñnï> H$s{OE&
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Attempt question either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZ H$m CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

41. ‘‘19th century British ideology shaped the governance of India.’’ Explain
the statement with examples. 2

""19dt gXr H$s {~«{Q>e {dMmaYmam Zo ^maV Ho$ emgZ H$mo AmH$ma {X¶m&'' Bg H$WZ H$mo CXmhaUm|
g{hV ñnï> H$s{OE&

OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

41. ‘‘Cultural interaction has led to changes in our food habits.’’ Explain the
statement with examples. 2

""gm§ñH¥${VH$ g§nH©$ Ho$ H$maU h‘mar ^moOZ g§~§Yr AmXVm| ‘| n[adV©Z Am¶m h¡&'' CXmhaUm| g{hV Bg
H$WZ H$mo ñnï> H$s{OE&

42. Explain the difference between the early Harappan and the mature
Harappan period. 3

àma§{^H$ h‹S>ßnm H$mb Am¡a {dH${gV h‹S>ßnm H$mb Ho$ ~rM A§Va ñnï> H$s{OE&

Or / AWdm

Explain the town planning of the Harappans.

h‹S>ßnm Ho$ bmoJm| Ho$ ZJa-{Z¶moOZ H$s ì¶m»¶m H$s{OE&

43. Describe the features of the Gandhara School of Art. 3

Jm§Yma H$bme¡br H$s {deofVmAm| H$m dU©Z H$s{OE&

44. How did Swami Vivekananda contribute to the Indian Reform Movement?
Explain. 3

ñdm‘r {ddoH$mZ§X Zo ^maVr¶ gwYma Am§XmobZ ‘| {H$g àH$ma ¶moJXmZ {X¶m? ñnï> H$s{OE&

Or / AWdm

Explain Macaulay’s ‘Downward Filtration Theory’. How did it shape the
British approach to education in India? 1+2=3

‘¡H$mbo H$m "S>mCZdS>© {’$ëQ´>oeZ {gÕm§V' go ³¶m VmËn¶© h¡? BgZo ^maV ‘| {ejm Ho$ à{V {~«{Q>e Ñ{ï>H$moU
H$mo {H$g àH$ma AmH$ma {X¶m?
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45. How did religion-based nationalism shape two distinct forms of political
mobilization in the 20th century? Explain. 3

20dt eVmãXr ‘| Y‘©-AmYm[aV amï´>dmX Zo amOZr{VH$ bm‘~§Xr Ho$ Xmo AbJ-AbJ ê$nm| H$mo {H$g àH$ma
AmH$ma {X¶m? ñnï> H$s{OE&

46. How did the Sovietization of Poland contribute to the origins of the
Cold War? Explain. 3

nmob¢S> Ho$ gmo{d¶VrH$aU Zo erV ¶wwÕ H$s CËn{Îm ‘| {H$g àH$ma ¶moJXmZ {X¶m? ñnï> H$s{OE&

Or / AWdm

How did the Suez Crisis of 1956 stem from the strategic and economic
importance of the Suez Canal?

1956 H$m ñdoO g§H$Q> ñdoO Zha Ho$ gm‘[aH$ Am¡a Am{W©H$ ‘hÎd go H¡$go CËnÞ hþAm?

47. Explain the causes of the First World War. 3

àW‘ {díd ¶wÕ Ho$ H$maUm| H$s ì¶m»¶m H$s{OE&

48. Explain the similarities in the teachings of Bhakti Saints in North India. 5

CÎma ^maV Ho$ ^{º$ g§Vm| H$s {ejmAm| ‘| g‘mZVmAm| H$s ì¶m»¶m H$s{OE&

Or / AWdm

‘‘The teachings and philosophy of Guru Nanak Ji form an important part
of Indian philosophical thought.’’ Explain the statement.

""Jwé ZmZH$ Or H$s {ejmE± Am¡a Xe©Z ^maVr¶ Xme©{ZH$ qMVZ H$m EH$ ‘hÎdnyU© {hñgm h¡&'' Bg H$WZ
H$s ì¶m»¶m H$s{OE&

49. Explain the role of revolutionaries of Punjab and Bengal in the Freedom
Struggle of India. 5

^maV Ho$ ñdV§ÌVm g§J«m‘ ‘| n§Om~ Am¡a ~§Jmb Ho$ H«$m§{VH$m[a¶m| H$s ^y{‘H$m H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain the expansion of the revolutionary movement beyond the shores
of India.

^maV H$s gr‘mAm| Ho$ ~mha H«$m§{VH$mar Am§XmobZ Ho$ {dñVma H$s ì¶m»¶m H$s{OE&
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Attempt question either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZ H$m CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

50. As a student of ancient Indian history, explain to your classmates the
structure of the Gupta administration. 5

àmMrZ ^maVr¶ B{Vhmg Ho$ EH$ N>mÌ Ho$ ê$n ‘|, Amn AnZo ghnm{R>¶m| H$mo Jwá àemgZ H$s g§aMZm
g‘PmBE&

OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

50. Explain briefly how our culture is shaped through a process of interaction. 5

h‘mar g§ñH¥${V {H$g àH$ma nañna {H«$¶m H$s à{H«$¶m go AmH$ma boVr h¡? g§jon ‘| g‘PmBE&

51. Mark the following on the outline map of India : 1×5=5

 (i) Extent of Pallava Empire (ii) Thanesar

(iii) Prayaga (iv) Mohenjo-daro

(v) Banawali

^maV Ho$ aoIm‘mZ{MÌ na {ZåZ{b{IV H$mo {M{•V H$s{OE :

(H$) n„d gm‘«mÁ¶ H$m {dñVma (I) WmZoga

(J) à¶mJ (K) ‘mohZOmoX‹S>mo

(L>) ~Zmdbr

Note : The following questions are for the visually impaired candidates only in
lieu of map-based Question No. 51. 1×5=5

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE ‘mZ{MÌ na AmYm[aV àíZ g§»¶m 51 Ho$
ñWmZ na h¡&

(i) Name the kingdom in Andhra Pradesh ruled by Mahendravarman
(AD 600–630) and Narasimhavarman I (AD 630–668).

Am§Y« àXoe ‘| ‘h|Ðd‘©Z (600 go 630 B©0) Am¡a Zaqghd‘©Z I (630 go 668 B©0) Ûmam em{gV
amÁ¶ H$m Zm‘ ~VmBE&
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(ii) Where was Harsha’s capital before he shifted to Kannauj?

hf© H$s amOYmZr H$Þm¡O ñWmZm§V[aV hmoZo go nhbo H$hm± Wr?

(iii) What is the other name of Allahabad?

Bbmhm~mX H$m Xÿgam Zm‘ ³¶m h¡?

(iv) Name the Harappan site excavated by R. D. Banerji.

Ama0 S>r0 ~ZOu Ûmam CËI{ZV h‹S>ßnm ñWb H$m Zm‘ ~VmBE&

(v) Name the Harappan site where a terracotta plough has been
discovered.

Cg h‹S>ßnm ñWb H$m Zm‘ ~VmBE Ohm± Q>oamH$moQ>m hb H$s ImoO H$s JB©&


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gm‘mÝ¶ AZwXoe :

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ^r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ v {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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Note  : (i) This Question Paper consists of 51 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Attempt all questions either from Option Module—6A or Option
Module—6B in all Sections.

(v) Section–A consists of—

(a) Question Nos. 1 to 20—Multiple Choice-type Questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 21 to 35—Objective-type Questions carrying 2 marks
each (with 2 sub-parts of 1 mark each). Attempt these questions as
per the instructions given for each of the questions.

(vi) Section–B consists of—

(a) Question Nos. 36 to 41—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 42 to 47—Short Answer-type Questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 48 to 50—Long Answer-type Questions carrying
5 marks each to be answered in the range of 80 to 120 words.

(d) Question No. 51—Map-based question carrying 5 marks. (Alternative
questions are given in lieu of map-based question for Visually
Impaired candidates)

An internal choice has been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 51 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&

(iv) g^r IÊS>m| ‘| d¡H$pënH$ ‘m°S²>¶yb—6A Am¡a d¡H$pënH$ ‘m°S²>¶yb—6B dmbo àíZm| ‘| go Ho$db EH$
{dH$ën H$m hr CÎma {bIZm h¡&
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(v) IÊS>–H$
(a) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡& BZ àíZm| ‘|

{XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$mo MwZH$a CÎma Ho$ ê$n ‘| {b{IE&
(b) àíZ g§»¶m 21 go 35 Xmo-Xmo A§H$ dmbo dñVw{Zð> àH$ma Ho$ àíZ h¡§& Eogo àË¶oH$ àíZ ‘|

1 A§H$ Ho$ Xmo Cn^mJ h¢& BZ àíZm| Ho$ CÎma {XE JE {ZX}emZwgma {b{IE&

(vi) IÊS>–I
(a) àíZ g§»¶m 36 go 41 A{V bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$ H$m h¡, {OgH$m

CÎma 30 go 50 eãXm| ‘| {bIZm h¡&
(b) àíZ g§»¶m 42 go 47 bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 3 A§H$ H$m h¡, {OgH$m CÎma

50 go 80 eãXm| ‘| {bIZm h¡&
(c) àíZ g§»¶m 48 go 50 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 5 A§H$ H$m h¡, {OgH$m

CÎma 80 go 120 eãXm| ‘| {bIZm h¡&
(d) àíZ g§»¶m 51 ‘mZ{MÌ na AmYm[aV àíZ h¡, Omo 5 A§H$ H$m h¡& (Ñ{ï>~m{YV narjm{W©¶m| Ho$

{bE ‘mZ{MÌ na AmYm[aV àíZ Ho$ ñWmZ na d¡H$pënH$ àíZ {XE JE h¢)
BZ‘| go Hw$N> àíZm| ‘| AmÝV[aH$ {dH$ën àXmZ {H$¶m J¶m h¡& Eogo àíZm| ‘| AmnH$mo Ho$db {H$gr
EH$ {dH$ën H$m hr CÎma {bIZm h¡&

SECTION–A

IÊS>–H$

1. Who was the Chinese Buddhist pilgrim who visited Western India during
the reign of Chandragupta II? 1

(A) Fa-Hien (B) Hiuen Tsang

(C) I-tsing (D) Marco Polo

M§ÐJwá {ÛVr¶ Ho$ emgZH$mb ‘| {H$g MrZr ~m¡Õ VrW©¶mÌr Zo npíM‘r ^maV H$s ¶mÌm H$s Wr?
(A) ’$mømZ (B) ôZ Ëgm§J
(C) BpËg¨J (D) ‘mH$m} nmobmo

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Which one of the following was the center of education for Mahayana
Buddhism during ancient India? 1

(A) Nalanda (B) Kannauj

(C) Vatapi (D) Kanchi

{ZåZ{b{IV ‘| go àmMrZ ^maV ‘| ‘hm¶mZ ~m¡Õ Y‘© H$m {ejm H|$Ð H$m¡Z-gm Wm?

(A) ZmbÝXm (B) H$Þm¡O

(C) dmVmnr (D) H$m±Mr

3. With the help of the following information, identify the administrator of the
Mughal Empire : 1

• He was the revenue collector.

• He used to maintain all accounts.

• He used to send the daily receipt and expenditure

report to the provincial Diwan.

(A) Mutasaddi (B) Amalguzar

(C) Muqaddam (D) Qiladar

{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go ‘wJb gm‘«mÁ¶ Ho$ àemgH$ H$s nhMmZ H$s{OE :

• dh amOñd g§J«hH$Vm© Wm&

• dh g^r ImVm| H$m aIaImd H$aVm Wm&

• dh X¡{ZH$ àm{á Am¡a ì¶¶ [anmoQ>© àm§Vr¶ XrdmZ H$mo ^oOVm Wm&

(A) ‘wVmgÔr (B) A‘bJwOma

(C) ‘wH$Ô‘ (D) {H$bmXma

4. In which year did the Union of Soviet Socialist Republics (USSR) become
a member of the League of Nations? 1

(A) 1919 (B) 1925

(C) 1934 (D) 1945

gmo{d¶V g‘mOdmXr JUamÁ¶ g§K (¶y0 Eg0 Eg0 Ama0) {H$g df© amï´> g§K H$m gXñ¶ ~Zm?

(A) 1919 (B) 1925

(C) 1934 (D) 1945
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5. Which of the following correctly shows the four Ashramas of life as
mentioned in Indian tradition? 1

(A) Childhood, Adolescence, Adulthood, Old age

(B) Brahmacharya, Grihastha, Vanaprastha, Sannyasa

(C) Student life, Work life, Retirement, Spiritual life

(D) Birth, Growth, Decline, Death

{ZåZ{b{IV ‘| go H$m¡Z-gm ^maVr¶ na§nam ‘| d{U©V OrdZ Ho$ Mma Aml‘m| H$mo ghr T>§J go Xem©Vm h¡?

(A) ~MnZ, {H$emoamdñWm, d¶ñH$Vm, ~w‹T>mnm

(B) ~«÷M¶©, J¥hñW, dmZàñW, g§Ý¶mg

(C) {dÚmWu OrdZ, H$m¶©OrdZ, godm{Zd¥{Îm, AmÜ¶mpË‘H$ OrdZ

(D) OÝ‘, {dH$mg, õmg, ‘¥Ë¶w

6. Read the statements given below and choose the correct option from the
following : 1

I. The first Muslim ruler of Kashmir was Shamsuddin Shah.

II. Zain-ul Abidin abolished ‘Jizya’ and prohibited cow slaughter.

III. Zain-ul Abidin ordered the translation of the Mahabharata and
Rajatarangini into Persian.

IV. In AD 1588, Kashmir was annexed by Akbar.

Options :

(A) I, II and III (B) I, II and IV

(C) I, III and IV (D) II, III and IV

ZrMo {XE JE H$WZm| H$mo n{‹T>E Am¡a {ZåZ{b{IV ‘| go ghr {dH$ën H$m M¶Z H$s{OE :

I. eågwÔrZ emh H$í‘ra H$m nhbm ‘wpñb‘ emgH$ Wm&

II. O¡Zwb Am{~{XZ Zo "O{O¶m' H$a hQ>m¶m Am¡a Jm¡dY na à{V~§Y bJm¶m&

III. O¡Zwb Am{~{XZ Zo "‘hm^maV' VWm "amOVa§{JUr' H$mo ’$magr ‘| AZwdmX H$aZo H$s Amkm Xr&

IV. 1588 B©0 ‘| AH$~a Zo H$í‘ra na H$ãµOm H$a {b¶m&

{dH$ën :

(A) I, II Am¡a III (B) I, II Am¡a IV

(C) I, III Am¡a IV (D) II, III Am¡a IV
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7. Who formed the Brahmo Samaj? 1

(A) Raja Rammohan Roy (B) Ishwar Chandra Vidyasagar

(C) Bal Gangadhar Tilak (D) Gopal Krishna Gokhale

~«÷g‘mO H$m JR>Z {H$gZo {H$¶m?

(A) amOm am‘‘mohZ am¶ (B) B©ídaM§Ð {dÚmgmJa

(C) ~mb J§JmYa {VbH$ (D) Jmonmb H¥$îU JmoIbo

8. Who amongst the following Mughal rulers spent a huge amount of money
on conflicts in the Deccan? 1

(A) Akbar (B) Shah Jahan

(C) Aurangzeb (D) Babur

BZ‘| go {H$g ‘wJb emgH$ Zo X¸$Z joÌ ‘| g§Kfm] na ^mar ‘mÌm ‘| YZ IM© {H$¶m?

(A) AH$~a (B) emhOhm±

(C) Am¡a§JOo~ (D) ~m~a

9. Who founded the Asiatic Society of Bengal? 1

(A) Warren Hastings (B) William Jones

(C) Jonathan Duncan (D) Wellesley

E{e¶m{Q>H$ gmogmBQ>r Am°’$ ~§Jmb H$s ñWmnZm {H$gZo H$s?

(A) dmaoZ hopñQ>¨½g (B) {d{b¶‘ OmoÝg

(C) OmoZmWZ S>§H$Z (D) doboñbr

10. Which regional State became the Buffer State of the British? 1

(A) Punjab (B) Awadh

(C) Nepal (D) Mysore

H$m¡Z-gm joÌr¶ amÁ¶ A§J«oµOmo§ H$m ~’$a amÁ¶ ~Z J¶m?

(A) n§Om~ (B) AdY

(C) Zonmb (D) ‘¡gya
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11. Who founded the Sanskrit College at Benaras? 1

(A) Warren Hastings (B) William Jones

(C) Jonathan Duncan (D) Wellesley

~Zmag ‘| g§ñH¥$V ‘hm{dÚmb¶ H$s ñWmnZm {H$gZo H$s?

(A) dmaoZ hopñQ>§½g (B) {d{b¶‘ OmoÝg

(C) OmoZmWZ S>§H$Z (D) doboñbr

12. How did colonial rule exploit India economically? 1

(A) By promoting local industries and self-sufficiency

(B) By imposing heavy taxes and an unequal trade

(C) By investing in indigenous businesses and labour welfare

(D) By encouraging Indian farmers to sell directly in global markets

Am¡n{Zdo{eH$ emgZ Zo ^maV H$m Am{W©H$ emofU {H$g àH$ma {H$¶m?

(A) ñWmZr¶ CÚmoJm| Am¡a AmË‘{Z^©aVm H$mo ~‹T>mdm XoH$a

(B) ^mar H$a bJmH$a Am¡a Ag‘mZ ì¶mnma H$aHo$

(C) ñdXoer ì¶dgm¶ Am¡a l‘ H$ë¶mU ‘| {Zdoe H$aHo$

(D) ^maVr¶ {H$gmZm| H$mo d¡pídH$ ~mµOmam| ‘| grYo AnZr CnO ~oMZo Ho$ {bE àmoËgm{hV H$aHo$

13. Choose the correct option from the following regarding the causes of the
failure of the Revolt of 1857 : 1

I. The rebels had limited supply of arms and ammunitions.

II. The British had sufficient resources and also better arms and
equipments.

III. There was a lack of communication and centralized leadership among
the rebels.

IV. Being gentle with Sepoys and Taluqdars

Options :

(A) I, II and III (B) II and III

(C) I and IV (D) All of the above
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gZ² 1857 Ho$ {dÐmoh H$s Ag’$bVm Ho$ H$maUm| Ho$ g§~§Y ‘| ZrMo {XE JE {dH$ënm| ‘| go ghr H$m
M¶Z H$s{OE :

I. {dÐmo{h¶m| Ho$ nmg h{W¶mam| Am¡a Jmobm-~mê$X H$s gr{‘V ‘mÌm hmoVr Wr&

II. {~«{Q>em| Ho$ nmg n¶m©á g§gmYZ Am¡a ~ohVa h{W¶ma VWm CnH$aU Wo&

III. {dÐmo{h¶m| ‘| g§Mma Am¡a H|$Ðr¶ ZoV¥Ëd H$s H$‘r Wr&

IV. {gnm{h¶m| Am¡a VmbwH$Xmam| Ho$ gmW {dZ‘« ì¶dhma&

{dH$ën :

(A) I, II Am¡a III (B) II Am¡a III

(C) I Am¡a IV (D) Cn¶w©º$ g^r

14. Who introduced the festival of Ganapati in Maharashtra as a religious
platform to spread nationalist ideas? 1

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi

(C) Gopal Krishna Gokhale (D) Subhas Chandra Bose

amï´>dmXr {dMmam| H$mo ’¡$bmZo Ho$ {bE Ym{‘©H$ ‘§M Ho$ ê$n ‘| ‘hmamï´> ‘| JUn{V CËgd H$s ewéAmV
{H$gZo H$s?

(A) ~mb J§JmYa {VbH$ (B) ‘hmË‘m Jm±Yr

(C) Jmonmb H¥$îU JmoIbo (D) gw^mf M§Ð ~mog

15. Who amongst the following was the writer of the book, Poverty and
Un-British Rule in India? 1

(A) Hansa Mehta (B) Jawaharlal Nehru

(C) Lala Lajpat Rai (D) Dadabhai Naoroji

BZ‘| go "nm°dQ>u E|S> AZ-{~«{Q>e ê$b BZ B§{S>¶m' Zm‘H$ nwñVH$ Ho$ boIH$ H$m¡Z Wo?

(A) h§gm ‘ohVm (B) Odmhabmb Zohê$

(C) bmbm bmOnV am¶ (D) XmXm^mB© Zm¡amoOr



315/MAY/207B 10

16. Who amongst the following was the Supreme Head of the Mughal
administration? 1

(A) Wazir (B) The Emperor

(C) The President (D) The Prime Minister

‘wJb gm‘«mÁ¶ ‘| àemgZ H$m gdm}ƒ à‘wI H$m¡Z hmoVm Wm?

(A) dµOra (B) g‘«mQ>

(C) amï´>n{V (D) àYmZ‘§Ìr

17. Identify the countries with the help of the following information : 1

• These two countries signed a Five-Year Non-Aggression

Treaty in 1941.

• These two countries maintained harmony during the

Yalta Conference.

• Both were part of the Second World War.

(A) Britain and France (B) The USA and the Soviet Union

(C) Germany and Italy (D) Japan and Germany

{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go Xoem| H$s nhMmZ H$s{OE :

• BZ XmoZm| Xoem| Zo 1941 ‘| nm±M-dfu¶ AZmH«$‘U g§{Y na hñVmja {H$E Wo&

• ¶mëQ>m gå‘obZ Ho$ Xm¡amZ XmoZm| Xoem| Zo gm¡hmX© ~ZmE aIm&

• XmoZm| hr {ÛVr¶ {díd ¶wÕ H$m {hñgm Wo&

(A) {~«Q>oZ Am¡a ’«$m§g (B) ¶y0 Eg0 E0 Am¡a gmo{d¶V g§K

(C) O‘©Zr Am¡a BQ>br (D) OmnmZ Am¡a O‘©Zr
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18. In which year under new constitution did Russia become the Union of
Soviet Socialist Republics (USSR)? 1

(A) 1936 (B) 1924

(C) 1918 (D) 1977

{H$g df© ZE g§{dYmZ Ho$ VhV ê$g gmo{d¶V g‘mOdmXr JUamÁ¶m| H$m g§K (¶y0 Eg0 Eg0 Ama0)
~Z J¶m?

(A) 1936 (B) 1924

(C) 1918 (D) 1977

19. In which dynasty did Chandragupta II marry his daughter
Prabhavatigupta? 1

(A) Gupta dynasty (B) Vakataka dynasty

(C) Mauryan dynasty (D) Kushana dynasty

M§ÐJwá {ÛVr¶ Zo AnZr nwÌr à^mdVr Jwá H$m {ddmh {H$g d§e ‘| {H$¶m Wm?

(A) Jwá d§e (B) dmH$mQ>H$ d§e

(C) ‘m¡¶© d§e (D) Hw$fmU d§e

20. Which of the following statements are correct regarding the appointment
of company officials during the British rule? 1

I. Cornwallis created a professional cadre of company servants who had
general salaries.

II. All high-level posts were reserved for the Britishers.

III. Selection of candidates for different posts was done entirely on merit
through an examination which was based on the American model.

IV. The Civil Servants enjoyed political power which no bureaucrat had in
England.

Options :

(A) I, II and III (B) I, II and IV

(C) I, III and IV (D) II, III and IV
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{~«{Q>e emgZ Ho$ Xm¡amZ H§$nZr A{YH$m[a¶m| H$s {Z¶w{º$ Ho$ g§~§Y ‘| {ZåZ{b{IV ‘| go H$m¡Z-go H$WZ
ghr h¢?

I. H$m°Z©dm{bg Zo H§$nZr Ho$ Eogo godH$mo§ H$m EH$ noeoda dJ© V¡¶ma {H$¶m {OZH$mo gm‘mÝ¶ doVZ
{‘bVm Wm&

II. g^r CƒñVar¶ nX {~«{Q>em| Ho$ {bE Ama{jV Wo&

III. {d{^Þ nXm| Ho$ {bE Cå‘rXdmam| H$m M¶Z nyar Vah go A‘o[aH$s ‘m°S>b na AmYm[aV narjm Ho$
‘mÜ¶‘ go ¶mo½¶Vm Ho$ AmYma na {H$¶m J¶m Wm&

IV. {g{db godH$m| H$mo amOZr{VH$ e{º$ àmá Wr, Omo B§½b¢S> ‘| {H$gr ^r Zm¡H$aemh Ho$ nmg Zht Wr&

{dH$ën :

(A) I, II Am¡a III (B) I, II Am¡a IV

(C) I, III Am¡a IV (D) II, III Am¡a IV

21. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) The mausoleum built by Aurangzeb for his wife Rabia-ud-Daurani at
Aurangabad was modeled on the _____.

Am¡a§JOo~ Ûmam AnZr nËZr a{~¶m-CX-Xm¡am§ Ho$ {bE Am¡a§Jm~mX ‘| ~Zdm¶m J¶m ‘H$~am _____

Ho$ ‘m°S>b na ~Zm¶m J¶m Wm&

(b) _____ in Agra was an experiment with an alternative scheme of an
open prayer hall that had also dispensed with the minarets and
replaced them with Chhatris on the four corners of the prayer hall.

AmJam ‘| _____ EH$ Iwbo àmW©Zm H$j H$s d¡H$pënH$ ¶moOZm H$m EH$ à¶moJ Wm {Og‘| ‘rZmam|
H$mo hQ>mH$a CZH$s OJh àmW©Zm H$j Ho$ Mmam| H$moZm| na N>V[a¶m± ~ZmB© JB© Wt&
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22. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) The Satavahana kingdom was divided into subdivisions called _____,
meaning districts.

gmVdmhZ gm‘«mÁ¶ _____ Cnà^mJm| ‘| {d^m{OV Wm, {OgH$m AW© {Obm Wm&

(b) The lowest level of administration was a _____ which was under the
charge of a Gramika.

àemgZ H$s bKwV‘ BH$mB© _____ Wr, Omo J«m{‘H$ Ho$ à^ma Ho$ A§VJ©V hmoVo Wo&

23. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The northern trade route called _____, while the southerly route called
_____ was under the control of Magadha.

CÎmar ì¶mnma ‘mJ© H$mo _____ H$hm OmVm Wm O~{H$ X{jUr ‘mJ© H$mo _____ H$hm OmVm Wm, Omo
‘JY Ho$ {Z¶§ÌU ‘| Wm&

24. Answer the following in one word/one phrase regarding the administrative
institutions of medieval India : 1×2=2

‘Ü¶H$mbrZ ^maV Ho$ àemg{ZH$ g§ñWmZm| Ho$ g§X^© ‘|, {ZåZ{b{IV àíZm| Ho$ CÎma EH$ eãX ¶m EH$
dm³¶m§e ‘| Xr{OE :

(a) Jagirs that were assigned to Zamindars or Rajas in their local
dominions

OmJra| Omo O‘tXmam| Am¡a amOmAm| H$mo CZHo$ ñWmZr¶ à^wËd ‘| gm¢nr OmVr Wt

(b) Jagirs that were given to Muslim nobles in their family towns or place
of birth

OmJra| Omo ‘wpñb‘ Hw$brZ (A{^OmV) H$mo CZHo$ nm[adm[aH$ ZJa AWdm OÝ‘ñWmZ ‘| Xr
OmVr Wt
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25. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Decorative styles were usually in the form of calligraphy, _____ figures
and _____ during the Mughal period.

‘wJb H$mb Ho$ Xm¡amZ gOmdQ>r e¡{b¶m± Am‘Vm¡a na gwboI, _____ AmH¥${V¶m| Am¡a _____ Ho$ ê$n
‘| hmoVr Wt&

26. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Social reformers of Bengal _____ and _____ made Hindu religion and its
ideas the motivating force behind Indian nationalism.

~§Jmb Ho$ g‘mO gwYmaH$, _____ Am¡a _____ Zo qhXÿ Y‘© Am¡a CgHo$ {dMmam| H$mo ^maVr¶ amï´>dmX
Ho$ nrN>o àoaH$ e{º$ ~Zm¶m&

27. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

(a) Fort William College was founded by _____ in 1801 to train the young
British recruits to the Civil Service in India.

gZ² 1801 ‘| _____ Zo ’$moQ>© {d{b¶‘ H$m°boO H$s ñWmnZm, ^maV ‘| {g{db godm Ho$ {bE ¶wdm
{~«{Q>e a§Jê$Q>m| H$mo à{e{jV H$aZo Ho$ {bE H$s Wr&

(b) Cornwallis succeeded in laying the foundation of a strong liberal
policy in the governance of _____.

H$m°Z©dm{bg _____ Ho$ emgZ ‘| EH$ ‘O~yV CXmaZr{V H$s Ztd aIZo ‘| g’$b ahm&

28. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The Nawab Mir Qasim attempted to reorganize the army and shift the
capital from _____ to _____.

Zdm~ ‘ra H$m{g‘ Zo goZm H$mo g§J{R>V H$aZo H$m à¶ËZ {H$¶m Am¡a CgZo amOYmZr _____ go _____

ñWmZm§V[aV H$s&
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29. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

According to this Imperial Mughal _____, the East India Company had
to pay R3,000 a year and in return could carry on trade duty-free
in _____.

‘wJb emhr _____ Ho$ AZwgma, B©ñQ> B§{S>¶m H§$nZr H$mo à{Vdf© 3,000 én¶o H$m ^wJVmZ H$aZm
n‹S>Vm Wm Am¡a ~Xbo ‘| dh _____ ‘| ewëH$-‘wº$ ì¶mnma H$a gH$Vr Wr&

30. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

In a 1981 survey of religious beliefs in the USA, only about _____
percent of people described themselves as _____.

1981 ‘| A‘o[aH$m ‘| Ym{‘©H$ {dídmgm| Ho$ EH$ gd}jU ‘| Ho$db _____ à{VeV bmoJ hr IwX
H$mo _____ ~VmVo h¢&

31. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) In Europe, the development of _____ was the result of the fundamental
changes that were taking place in society and economy around the
18th century.

¶yamon ‘| _____ H$m {dH$mg 18dt eVmãXr Ho$ Amgnmg g‘mO Am¡a AW©ì¶dñWm ‘| hmo aho ‘yb^yV
n[adV©Zm| H$m n[aUm‘ Wm&

(b) Uniformity in communication systems resulted in the creation of a
_____ and reinforced national boundaries.

g§Mma àUm{b¶m| ‘| EH$ê$nVm Ho$ n[aUm‘ñdê$n _____ H$m {Z‘m©U hþAm Am¡a amï´>r¶ gr‘mE±
gwÑ‹T> hþBª&
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Attempt questions either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZm| Ho$ CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

32. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

_____ conquered Delhi in 1555. He died there by accident. His 13-year-
old son, Akbar, then ascended his throne under his regent, _____.

_____ Zo 1555 ‘| {X„r na {dO¶ àmá H$s& CgH$s ‘¥Ë¶w XþK©Q>Zmde dht hmo JB©& CgHo$
13-dfu¶ nwÌ AH$~a Zo CgHo$ arO|Q> _____ Ho$ AYrZ JÔr g±^mbr&

33. As a student of ancient Indian history, explain to your classmates the
structure of the Gupta administration. 2

àmMrZ ^maVr¶ B{Vhmg Ho$ EH$ N>mÌ Ho$ ê$n ‘|, Amn AnZo ghnm{R>¶m| H$mo Jwá àemgZ H$s g§aMZm
g‘PmBE&

34. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

From the 1820s to the 1850s, the British demonstrated a strong urge
to change Indian social institutions, and to _____ India. The Britishers
abolished _____ and eliminated dacoits from the highways.

gZ² 1820 Ho$ XeH$ go 1850 Ho$ XeH$ VH$ {~«{Q>em| Zo ^maVr¶ gm‘m{OH$ g§ñWmAm| H$mo ~XbZo
Am¡a ^maV H$m _____ H$aZo H$s à~b bmbgm {XImB©& {~«{Q>em| Zo _____ H$m CÝ‘ybZ H$a {X¶m
Am¡a amO‘mJm] go S>H¡$Vm| H$mo CIm‹S> ’|$H$m&

35. ‘‘19th century British ideology shaped the governance of India.’’ Explain
the statement with examples. 2

""19dt gXr H$s {~«{Q>e {dMmaYmam Zo ^maV Ho$ emgZ H$mo AmH$ma {X¶m&'' Bg H$WZ H$mo CXmhaUm|
g{hV ñnï> H$s{OE&
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OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

32. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) _____ colour represents fertility and is generally worn by the bride on
the occasion of her wedding.

_____ a§J àOZZ j‘Vm H$m à{V{Z{YËd H$aVm h¡ Am¡a Am‘Vm¡a na XþëhZ Ûmam emXr Ho$ Adga
na nhZm OmVm h¡&

(b) _____ colour represents purity and sacrifice and is usually worn by
spiritual persons.

_____ a§J n{dÌVm Am¡a Ë¶mJ H$m àVrH$ h¡ Am¡a Bgo Am‘Vm¡a na AmÜ¶mpË‘H$ ì¶{º$¶m| Ûmam nhZm
OmVm h¡&

33. Explain briefly how our culture is shaped through a process of interaction. 2

h‘mar g§ñH¥${V {H$g àH$ma nañna {H«$¶m H$s à{H«$¶m go AmH$ma boVr h¡? g§jon ‘| g‘PmBE&

34. Answer the following in one word/one phrase : 1×2=2

{ZåZ{b{IV Ho$ CÎma EH$ eãX ¶m EH$ dm³¶m§e ‘| Xr{OE :

(a) A scholar who analyzes material remains of past societies and helps
us to understand them

AVrV Ho$ g‘mO Ho$ ^m¡{VH$ Adeofm| H$m {díbofU H$aZo dmbm Am¡a CÝh| g‘PZo ‘| h‘mar ‘XX
H$aZo dmbm {dÛmZ

(b) Refers to the tendency to want more goods and services than are
actually necessary, sometimes even if these cannot be afforded

dmñV{dH$ Oê$aVm| H$s VwbZm ‘| Á¶mXm dñVwE± Am¡a godmE± MmhZo Am¡a H$^r-H$^r gm‘Ï¶© Z hmoZo
Ho$ ~mdOyX CÝh| nmZo H$s BÀN>m aIZo H$s àd¥{Îm

35. ‘‘Cultural interaction has led to changes in our food habits.’’ Explain the
statement with examples. 2

""gm§ñH¥${VH$ g§nH©$ Ho$ H$maU h‘mar ^moOZ g§~§Yr AmXVm| ‘| n[adV©Z Am¶m h¡&'' CXmhaUm| g{hV Bg
H$WZ H$mo ñnï> H$s{OE&
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SECTION–B

IÊS>–I

36. Explain the status of women in early Vedic society. 2

àma§{^H$ d¡{XH$ g‘mO ‘| ‘{hbmAm| H$s pñW{V H$s ì¶m»¶m H$s{OE&

Or / AWdm

Why was Kanishka considered as an important ruler of the Kushana
dynasty? Explain.

H${ZîH$ H$mo Hw$fmU d§e H$m EH$ ‘hÎdnyU© emgH$ ³¶m| ‘mZm OmVm h¡? ñnï> H$s{OE&

37. ‘‘The Sepoys had their own reasons for resentment in the Revolt of 1857.’’
Examine the statement. 2

""gZ² 1857 Ho$ {dÐmoh ‘| {gnm{h¶m| H$s ZmamOJr Ho$ AnZo H$maU Wo&'' Bg H$WZ H$s naI H$s{OE&

38. What are the primary grievances of the people in the Rangpur and
Dinajpur districts of Bengal? 2

~§Jmb Ho$ Xmo {Obm| a§Jnwa Am¡a {XZmOnwa Ho$ bmoJm| H$s àmW{‘H$ {eH$m¶V| ³¶m Wt?

39. Describe the main points of the aggreement between the Mughals and
Bijapur during Shah Jahan’s reign. 2

emhOhm± Ho$ emgZH$mb Ho$ Xm¡amZ ‘wJb Am¡a ~rOmnwa Ho$ ~rM g‘Pm¡Vo Ho$ ‘w»¶ q~XþAm| H$m dU©Z H$s{OE&

40. How have the advances of western ideas across the globe influenced
traditional cultures and social structures in different societies? Explain. 2

Xþ{Z¶m ^a ‘| npíM‘r {dMmam| Zo {d{^Þ g‘mOm| ‘| nma§n[aH$ g§ñH¥${V¶m| Am¡a gm‘m{OH$ g§aMZmAm| H$mo
H¡$go à^m{dV {H$¶m? ñnï> H$s{OE&
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Attempt question either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZ H$m CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

41. How did the economic and social transformations in Britain after 1813
influence British interests and policies in India? 2

1813 Ho$ ~mX {~«Q>oZ ‘| hþE Am{W©H$ Am¡a gm‘m{OH$ ~Xbmdm| Zo H¡$go ^maV ‘| {~«{Q>e {hVm| Am¡a Zr{V¶m|
H$mo à^m{dV {H$¶m?

OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

41. In what ways do our religious beliefs influence our daily lives? 2

{H$Z VarH$m| go h‘mao Ym{‘©H$ {dídmg h‘mao X¡{ZH$ OrdZ H$mo à^m{dV H$aVo h¢?

42. Explain the causes of the First World War. 3

àW‘ {díd ¶wÕ Ho$ H$maUm| H$s ì¶m»¶m H$s{OE&

43. How did Swami Vivekananda contribute to the Indian Reform Movement?
Explain. 3

ñdm‘r {ddoH$mZ§X Zo ^maVr¶ gwYma Am§XmobZ ‘| {H$g àH$ma ¶moJXmZ {X¶m? ñnï> H$s{OE&

Or / AWdm

Explain Macaulay’s ‘Downward Filtration Theory’. How did it shape the
British approach to education in India? 1+2=3

‘¡H$mbo H$m "S>mCZdS>© {’$ëQ´>oeZ {gÕm§V' go ³¶m VmËn¶© h¡? BgZo ^maV ‘| {ejm Ho$ à{V {~«{Q>e Ñ{ï>H$moU
H$mo {H$g àH$ma AmH$ma {X¶m?

44. Describe the features of the Gandhara School of Art. 3

Jm§Yma H$bme¡br H$s {deofVmAm| H$m dU©Z H$s{OE&
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45. How did the Sovietization of Poland contribute to the origins of the
Cold War? Explain. 3

nmob¢S> Ho$ gmo{d¶VrH$aU Zo erV ¶wwÕ H$s CËn{Îm ‘| {H$g àH$ma ¶moJXmZ {X¶m? ñnï> H$s{OE&

Or / AWdm

How did the Suez Crisis of 1956 stem from the strategic and economic
importance of the Suez Canal?

1956 H$m ñdoO g§H$Q> ñdoO Zha Ho$ gm‘[aH$ Am¡a Am{W©H$ ‘hÎd go H¡$go CËnÞ hþAm?

46. How did religion-based nationalism shape two distinct forms of political
mobilization in the 20th century? Explain. 3

20dt eVmãXr ‘| Y‘©-AmYm[aV amï´>dmX Zo amOZr{VH$ bm‘~§Xr Ho$ Xmo AbJ-AbJ ê$nm| H$mo {H$g àH$ma
AmH$ma {X¶m? ñnï> H$s{OE&

47. Explain the difference between the early Harappan and the mature
Harappan period. 3

àma§{^H$ h‹S>ßnm H$mb Am¡a {dH${gV h‹S>ßnm H$mb Ho$ ~rM A§Va ñnï> H$s{OE&

Or / AWdm

Explain the town planning of the Harappans.

h‹S>ßnm Ho$ bmoJm| Ho$ ZJa-{Z¶moOZ H$s ì¶m»¶m H$s{OE&

48. How did the Treaty of Versailles contribute to the outbreak of the
Second World War? Explain. 5

dgm©¶ H$s g§{Y Zo {H$g àH$ma Xÿgao {díd ¶wÕ Ho$ ~rO ~moZo ‘| ¶moJXmZ {X¶m? ñnï> H$s{OE&

49. Explain the similarities in the teachings of Bhakti Saints in North India. 5

CÎma ^maV Ho$ ^{º$ g§Vm| H$s {ejmAm| ‘| g‘mZVmAm| H$s ì¶m»¶m H$s{OE&

Or / AWdm

‘‘The teachings and philosophy of Guru Nanak Ji form an important part
of Indian philosophical thought.’’ Explain the statement.

""Jwé ZmZH$ Or H$s {ejmE± Am¡a Xe©Z ^maVr¶ Xme©{ZH$ qMVZ H$m EH$ ‘hÎdnyU© {hñgm h¡&'' Bg H$WZ
H$s ì¶m»¶m H$s{OE&
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Attempt question either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZ H$m CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

50. Explain the role of revolutionaries of Punjab and Bengal in the Freedom
Struggle of India. 5

^maV Ho$ ñdV§ÌVm g§J«m‘ ‘| n§Om~ Am¡a ~§Jmb Ho$ H«$m§{VH$m[a¶m| H$s ^y{‘H$m H$s ì¶m»¶m H$s{OE&

OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

50. Explain the expansion of the revolutionary movement beyond the shores
of India. 5

^maV H$s gr‘mAm| Ho$ ~mha H«$m§{VH$mar Am§XmobZ Ho$ {dñVma H$s ì¶m»¶m H$s{OE&

51. Mark the following on the outline map of India : 1×5=5

 (i) Extent of Pallava Empire (ii) Thanesar

(iii) Prayaga (iv) Mohenjo-daro

(v) Banawali

^maV Ho$ aoIm‘mZ{MÌ na {ZåZ{b{IV H$mo {M{•V H$s{OE :

(H$) n„d gm‘«mÁ¶ H$m {dñVma (I) WmZoga

(J) à¶mJ (K) ‘mohZOmoX‹S>mo

(L>) ~Zmdbr

Note : The following questions are for the visually impaired candidates only in
lieu of map-based Question No. 51. 1×5=5

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE ‘mZ{MÌ na AmYm[aV àíZ g§»¶m 51 Ho$
ñWmZ na h¡&

(i) Name the kingdom in Andhra Pradesh ruled by Mahendravarman
(AD 600–630) and Narasimhavarman I (AD 630–668).

Am§Y« àXoe ‘| ‘h|Ðd‘©Z (600 go 630 B©0) Am¡a Zaqghd‘©Z I (630 go 668 B©0) Ûmam em{gV
amÁ¶ H$m Zm‘ ~VmBE&
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(ii) Where was Harsha’s capital before he shifted to Kannauj?

hf© H$s amOYmZr H$Þm¡O ñWmZm§V[aV hmoZo go nhbo H$hm± Wr?

(iii) What is the other name of Allahabad?

Bbmhm~mX H$m Xÿgam Zm‘ ³¶m h¡?

(iv) Name the Harappan site excavated by R. D. Banerji.

Ama0 S>r0 ~ZOu Ûmam CËI{ZV h‹S>ßnm ñWb H$m Zm‘ ~VmBE&

(v) Name the Harappan site where a terracotta plough has been
discovered.

Cg h‹S>ßnm ñWb H$m Zm‘ ~VmBE Ohm± Q>oamH$moQ>m hb H$s ImoO H$s JB©&


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This Question Paper consists of 51 questions [Section–A (35) + Section–B (16)] and
22 printed pages + 1 Outline Map.

Bg àíZ-nÌ ‘| 51 àíZ [IÊS>–H$ (35) + IÊS>–I (16)] VWm 22 ‘w{ÐV n¥ð> + 1 aoIm‘mZ{MÌ h¢&
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gm‘mÝ¶ AZwXoe :

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ^r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ w {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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HISTORY

B{Vhmg
(315)

Time : 3 Hours ] [ Maximum Marks : 100

g‘¶ : 3 KÊQ>o ] [ nyUmªH$ : 100

Note  : (i) This Question Paper consists of 51 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Attempt all questions either from Option Module—6A or Option
Module—6B in all Sections.

(v) Section–A consists of—

(a) Question Nos. 1 to 20—Multiple Choice-type Questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 21 to 35—Objective-type Questions carrying 2 marks
each (with 2 sub-parts of 1 mark each). Attempt these questions as
per the instructions given for each of the questions.

(vi) Section–B consists of—

(a) Question Nos. 36 to 41—Very Short Answer-type Questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 42 to 47—Short Answer-type Questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 48 to 50—Long Answer-type Questions carrying
5 marks each to be answered in the range of 80 to 120 words.

(d) Question No. 51—Map-based question carrying 5 marks. (Alternative
questions are given in lieu of map-based question for Visually
Impaired candidates)

An internal choice has been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 51 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ Cg àíZ Ho$ gm‘Zo {XE JE h¢&

(iv) g^r IÊS>m| ‘| d¡H$pënH$ ‘m°S²>¶yb—6A Am¡a d¡H$pënH$ ‘m°S²>¶yb—6B dmbo àíZm| ‘| go Ho$db EH$
{dH$ën H$m hr CÎma {bIZm h¡&
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(v) IÊS>–H$
(a) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡& BZ àíZm| ‘|

{XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$mo MwZH$a CÎma Ho$ ê$n ‘| {b{IE&
(b) àíZ g§»¶m 21 go 35 Xmo-Xmo A§H$ dmbo dñVw{Zð> àH$ma Ho$ àíZ h¡§& Eogo àË¶oH$ àíZ ‘|

1 A§H$ Ho$ Xmo Cn^mJ h¢& BZ àíZm| Ho$ CÎma {XE JE {ZX}emZwgma {b{IE&

(vi) IÊS>–I
(a) àíZ g§»¶m 36 go 41 A{V bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$ H$m h¡, {OgH$m

CÎma 30 go 50 eãXm| ‘| {bIZm h¡&
(b) àíZ g§»¶m 42 go 47 bKyÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 3 A§H$ H$m h¡, {OgH$m CÎma

50 go 80 eãXm| ‘| {bIZm h¡&
(c) àíZ g§»¶m 48 go 50 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 5 A§H$ H$m h¡, {OgH$m

CÎma 80 go 120 eãXm| ‘| {bIZm h¡&
(d) àíZ g§»¶m 51 ‘mZ{MÌ na AmYm[aV àíZ h¡, Omo 5 A§H$ H$m h¡& (Ñ{ï>~m{YV narjm{W©¶m| Ho$

{bE ‘mZ{MÌ na AmYm[aV àíZ Ho$ ñWmZ na d¡H$pënH$ àíZ {XE JE h¢)
BZ‘| go Hw$N> àíZm| ‘| AmÝV[aH$ {dH$ën àXmZ {H$¶m J¶m h¡& Eogo àíZm| ‘| AmnH$mo Ho$db {H$gr
EH$ {dH$ën H$m hr CÎma {bIZm h¡&

SECTION–A

IÊS>–H$

1. Which was the first newspaper published by James Augustus Hicky? 1

(A) Bengal Gazette (B) The Calcutta Chronicle

(C) The Madras Courier (D) Jonathan Duncan

Ooåg Am°JñQ>g {h¸$s Ûmam àH$m{eV nhbm g‘mMma-nÌ H$m ³¶m Zm‘ Wm?

(A) ~§Jmb JOQ> (B) X H$bH$Îmm H«$mo{ZH$b

(C) ‘Ðmg H$mo[a¶a (D) OmoZmWZ S>§H$Z

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Which of the following correctly shows the four Ashramas of life as
mentioned in Indian tradition? 1

(A) Childhood, Adolescence, Adulthood, Old age

(B) Brahmacharya, Grihastha, Vanaprastha, Sannyasa

(C) Student life, Work life, Retirement, Spiritual life

(D) Birth, Growth, Decline, Death

{ZåZ{b{IV ‘| go H$m¡Z-gm ^maVr¶ na§nam ‘| d{U©V OrdZ Ho$ Mma Aml‘m| H$mo ghr T>§J go Xem©Vm h¡?

(A) ~MnZ, {H$emoamdñWm, d¶ñH$Vm, ~w‹T>mnm

(B) ~«÷M¶©, J¥hñW, dmZàñW, g§Ý¶mg

(C) {dÚmWu OrdZ, H$m¶©OrdZ, godm{Zd¥{Îm, AmÜ¶mpË‘H$ OrdZ

(D) OÝ‘, {dH$mg, õmg, ‘¥Ë¶w

3. Who was the Chinese Buddhist pilgrim who visited Western India during
the reign of Chandragupta II? 1

(A) Fa-Hien (B) Hiuen Tsang

(C) I-tsing (D) Marco Polo

M§ÐJwá {ÛVr¶ Ho$ emgZH$mb ‘| {H$g MrZr ~m¡Õ VrW©¶mÌr Zo npíM‘r ^maV H$s ¶mÌm H$s Wr?

(A) ’$mømZ (B) ôZ Ëgm§J

(C) BpËg¨J (D) ‘mH$m} nmobmo

4. With the help of the following information, identify the administrator of the
Mughal Empire : 1

• He was the revenue collector.

• He used to maintain all accounts.

• He used to send the daily receipt and expenditure

report to the provincial Diwan.

(A) Mutasaddi (B) Amalguzar

(C) Muqaddam (D) Qiladar
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{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go ‘wJb gm‘«mÁ¶ Ho$ àemgH$ H$s nhMmZ H$s{OE :

• dh amOñd g§J«hH$Vm© Wm&

• dh g^r ImVm| H$m aIaImd H$aVm Wm&

• dh X¡{ZH$ àm{á Am¡a ì¶¶ [anmoQ>© àm§Vr¶ XrdmZ H$mo ^oOVm Wm&

(A) ‘wVmgÔr (B) A‘bJwOma

(C) ‘wH$Ô‘ (D) {H$bmXma

5. Who was responsible to protect the laws of the Shariat during the Delhi
Sultanate? 1

(A) Sadr-us-Sudur (B) Mir Saman

(C) Shiqdar (D) Amil

{X„r gëVZV Ho$ g‘¶ ‘| ear¶V Ho$ H$mZyZm| H$s ajm Ho$ {bE H$m¡Z {Oå‘oXma Wm?

(A) gÐ-Cg-gwXÿa (B) ‘ra gm‘m±

(C) {e³Xma (D) Am{‘b

6. Identify the Mughal administrator with the help of the following
information : 1

• He was the Officer-in-charge of the royal Karkhana.

• He was responsible for all kinds of purchases and

their storage for the royal household.

• He also supervised manufacture of different articles.

(A) Subedar (B) Mir Bakshi

(C) Mir Saman (D) Diwan

{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go ‘wJb àemgH$ H$s nhMmZ H$s{OE :

• dh H$maImZm| H$m à^mar A{YH$mar Wm&

• emhr n[adma Ho$ {bE g^r àH$ma H$s IarXmar H$aZm Am¡a CZHo$ ^§S>maU H$s
CgH$s {Oå‘odmar Wr&

• dh {d{^Þ dñVwwAm| Ho$ CËnmXZ na ^r {ZJamZr aIVm Wm&

(A) gy~oXma (B) ‘ra ~³er

(C) ‘ra gm‘m± (D) XrdmZ
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7. Who founded the Asiatic Society of Bengal? 1

(A) Warren Hastings (B) William Jones

(C) Jonathan Duncan (D) Wellesley

E{e¶m{Q>H$ gmogmBQ>r Am°’$ ~§Jmb H$s ñWmnZm {H$gZo H$s?

(A) dmaoZ hopñQ>¨½g (B) {d{b¶‘ OmoÝg

(C) OmoZmWZ S>§H$Z (D) doboñbr

8. During which period did Samudragupta reign? 1

(A) AD 150–180 (B) AD 250–275

(C) AD 335–375 (D) AD 400–425

g‘wÐJwá Zo {H$g H$mb ‘| emgZ {H$¶m?

(A) gZ² 150–180 (B) gZ² 250–275

(C) gZ² 335–375 (D) gZ² 400–425

9. Identify the style of art with the help of the following information : 1

• Flourished between the lower valleys of rivers Krishna

and Godavari

• Patronized by Satavahanas and Ikshavaku rulers

• Also known as ‘narrative art’

(A) Mathura School of Art (B) Gandhara School of Art

(C) Amravati School of Art (D) Rock-cut structures

{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go H$bme¡br H$s nhMmZ H$s{OE :

• H¥$îUm Am¡a JmoXmdar Z{X¶m| H$s {ZMbr Km{Q>¶m| ‘| {dH${gV hþB©

• gmVdmhZ Am¡a BúdmHw$ d§e go g§ajU {‘bm

• Bgo "Am»¶mZ H$bm' ^r H$hm OmVm h¡

(A) H$bm H$s ‘Wwam e¡br (B) H$bm H$s Jm§Yma e¡br

(C) H$bm H$s A‘amdVr e¡br (D) MÅ>mZ ñWmnË¶ H$bm
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10. Identify the ruler of the Delhi Sultanate with the help of the following
information : 1

• He started a new department for the development of

agriculture called Diwan-i-Kohi.

• He introduced token currency to tide over the shortage of silver.

• He transferred his capital from Delhi to Deogir (Daulatabad).

(A) Firoz Tughlaq (B) Muhammad Tughlaq

(C) Ghiyasuddin Tughlaq (D) Ghazi Malik

{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go {X„r gëVZV Ho$ emgH$ H$s nhMmZ H$s{OE :

• H¥${f Ho$ {dH$mg Ho$ {bE ZE {d^mJ H$m {Z‘m©U H$am¶m {Ogo "XrdmZ-E-H$mohr'
H$hm J¶m&

• CgZo Mm±Xr H$s H$‘r go {ZnQ>Zo Ho$ {bE Q>moH$Z ‘wÐm ewê$ H$s&

• CgZo AnZr amOYmZr {X„r go Xod{Ja (Xm¡bVm~mX) ñWmZm§V[aV H$a Xr&

(A) {’$amoO VwJbH$ (B) ‘whå‘X VwJbH$

(C) ½¶mgwÔrZ VwJbH$ (D) JmµOr ‘{bH$

11. Choose the correct option from the following regarding the causes of the
failure of the Revolt of 1857 : 1

I. The rebels had limited supply of arms and ammunitions.

II. The British had sufficient resources and also better arms and
equipments.

III. There was a lack of communication and centralized leadership among
the rebels.

IV. Being gentle with Sepoys and Taluqdars

Options :

(A) I, II and III (B) II and III

(C) I and IV (D) All of the above



315/MAY/207C 9 [ P.T.O.

gZ² 1857 Ho$ {dÐmoh H$s Ag’$bVm Ho$ H$maUm| Ho$ g§~§Y ‘| ZrMo {XE JE {dH$ënm| ‘| go ghr H$m
M¶Z H$s{OE :

I. {dÐmo{h¶m| Ho$ nmg h{W¶mam| Am¡a Jmobm-~mê$X H$s gr{‘V ‘mÌm hmoVr Wr&

II. {~«{Q>em| Ho$ nmg n¶m©á g§gmYZ Am¡a ~ohVa h{W¶ma VWm CnH$aU Wo&

III. {dÐmo{h¶m| ‘| g§Mma Am¡a H|$Ðr¶ ZoV¥Ëd H$s H$‘r Wr&

IV. {gnm{h¶m| Am¡a VmbwH$Xmam| Ho$ gmW {dZ‘« ì¶dhma&

{dH$ën :

(A) I, II Am¡a III (B) II Am¡a III

(C) I Am¡a IV (D) Cn¶w©º$ g^r

12. When was the Treaty of Paris signed? 1

(A) 1760 (B) 1761

(C) 1762 (D) 1763

no[ag H$s g§{Y na H$~ hñVmja {H$E JE Wo?

(A) 1760 (B) 1761

(C) 1762 (D) 1763

13. Who amongst the following was the writer of the book, Poverty and
Un-British Rule in India? 1

(A) Hansa Mehta (B) Jawaharlal Nehru

(C) Lala Lajpat Rai (D) Dadabhai Naoroji

BZ‘| go "nm°dQ>u E|S> AZ-{~«{Q>e ê$b BZ B§{S>¶m' Zm‘H$ nwñVH$ Ho$ boIH$ H$m¡Z Wo?

(A) h§gm ‘ohVm (B) Odmhabmb Zohê$

(C) bmbm bmOnV am¶ (D) XmXm^mB© Zm¡amoOr
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14. In which year was the First Five-Year Plan introduced by the USSR as part
of its industrialization program? 1

(A) 1923 (B) 1928

(C) 1929 (D) 1933

gmo{d¶V g§K (¶y0 Eg0 Eg0 Ama0) Ûmam AnZo Am¡Úmo{JH$sH$aU H$m¶©H«$‘ Ho$ ^mJ Ho$ ê$n ‘| nhbr
n§Mdfu¶ ¶moOZm {H$g df© ewê$ H$s JB© Wr?

(A) 1923 (B) 1928

(C) 1929 (D) 1933

15. The Progressive Writers’ Association was formed by master poets like

(A) Pablo Neruda and Lu Hsun

(B) Majaz and Josh

(C) Rabindranath Tagore and Josh

(D) A. J. Ayer and Wittgenstein 1

àJ{Verb boIH$ g§K H$m JR>Z ‘hmZ H${d¶m| O¡go _____ Am¡a _____ Zo {H$¶m&

(A) nmãbmo Zoê$Xm Am¡a by hgyZ

(B) ‘OmµO Am¡a Omoe

(C) adrÝÐZmW Q>¡Jmoa Am¡a Omoe

(D) E0 Oo0 Aæ¶a Am¡a {dQ>OoÝñQ>rZ

16. Who introduced the festival of Ganapati in Maharashtra as a religious
platform to spread nationalist ideas? 1

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi

(C) Gopal Krishna Gokhale (D) Subhas Chandra Bose

amï´>dmXr {dMmam| H$mo ’¡$bmZo Ho$ {bE Ym{‘©H$ ‘§M Ho$ ê$n ‘| ‘hmamï´> ‘| JUn{V CËgd H$s ewéAmV
{H$gZo H$s?

(A) ~mb J§JmYa {VbH$ (B) ‘hmË‘m Jm±Yr

(C) Jmonmb H¥$îU JmoIbo (D) gw^mf M§Ð ~mog
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17. Identify the countries with the help of the following information : 1

• These two countries signed a Five-Year Non-Aggression

Treaty in 1941.

• These two countries maintained harmony during the

Yalta Conference.

• Both were part of the Second World War.

(A) Britain and France (B) The USA and the Soviet Union

(C) Germany and Italy (D) Japan and Germany

{ZåZ{b{IV OmZH$mar H$s ghm¶Vm go Xoem| H$s nhMmZ H$s{OE :

• BZ XmoZm| Xoem| Zo 1941 ‘| nm±M-dfu¶ AZmH«$‘U g§{Y na hñVmja {H$E Wo&

• ¶mëQ>m gå‘obZ Ho$ Xm¡amZ XmoZm| Xoem| Zo gm¡hmX© ~ZmE aIm&

• XmoZm| hr {ÛVr¶ {díd ¶wÕ H$m {hñgm Wo&

(A) {~«Q>oZ Am¡a ’«$m§g (B) ¶y0 Eg0 E0 Am¡a gmo{d¶V g§K

(C) O‘©Zr Am¡a BQ>br (D) OmnmZ Am¡a O‘©Zr

18. In which year under new constitution did Russia become the Union of
Soviet Socialist Republics (USSR)? 1

(A) 1936 (B) 1924

(C) 1918 (D) 1977

{H$g df© ZE g§{dYmZ Ho$ VhV ê$g gmo{d¶V g‘mOdmXr JUamÁ¶m| H$m g§K (¶y0 Eg0 Eg0 Ama0)
~Z J¶m?

(A) 1936 (B) 1924

(C) 1918 (D) 1977

19. How did colonial rule exploit India economically? 1

(A) By promoting local industries and self-sufficiency

(B) By imposing heavy taxes and an unequal trade

(C) By investing in indigenous businesses and labour welfare

(D) By encouraging Indian farmers to sell directly in global markets
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Am¡n{Zdo{eH$ emgZ Zo ^maV H$m Am{W©H$ emofU {H$g àH$ma {H$¶m?

(A) ñWmZr¶ CÚmoJm| Am¡a AmË‘{Z^©aVm H$mo ~‹T>mdm XoH$a

(B) ^mar H$a bJmH$a Am¡a Ag‘mZ ì¶mnma H$aHo$

(C) ñdXoer ì¶dgm¶ Am¡a l‘ H$ë¶mU ‘| {Zdoe H$aHo$

(D) ^maVr¶ {H$gmZm| H$mo d¡pídH$ ~mµOmam| ‘| grYo AnZr CnO ~oMZo Ho$ {bE àmoËgm{hV H$aHo$

20. Which of the following statements are correct regarding the appointment
of company officials during the British rule? 1

I. Cornwallis created a professional cadre of company servants who had
general salaries.

II. All high-level posts were reserved for the Britishers.

III. Selection of candidates for different posts was done entirely on merit
through an examination which was based on the American model.

IV. The Civil Servants enjoyed political power which no bureaucrat had in
England.

Options :

(A) I, II and III (B) I, II and IV

(C) I, III and IV (D) II, III and IV

{~«{Q>e emgZ Ho$ Xm¡amZ H§$nZr A{YH$m[a¶m| H$s {Z¶w{º$ Ho$ g§~§Y ‘| {ZåZ{b{IV ‘| go H$m¡Z-go H$WZ
ghr h¢?

I. H$m°Z©dm{bg Zo H§$nZr Ho$ Eogo godH$mo§ H$m EH$ noeoda dJ© V¡¶ma {H$¶m {OZH$mo gm‘mÝ¶ doVZ
{‘bVm Wm&

II. g^r CƒñVar¶ nX {~«{Q>em| Ho$ {bE Ama{jV Wo&

III. {d{^Þ nXm| Ho$ {bE Cå‘rXdmam| H$m M¶Z nyar Vah go A‘o[aH$s ‘m°S>b na AmYm[aV narjm Ho$
‘mÜ¶‘ go ¶mo½¶Vm Ho$ AmYma na {H$¶m J¶m Wm&

IV. {g{db godH$m| H$mo amOZr{VH$ e{º$ àmá Wr, Omo B§½b¢S> ‘| {H$gr ^r Zm¡H$aemh Ho$ nmg Zht Wr&

{dH$ën :

(A) I, II Am¡a III (B) I, II Am¡a IV

(C) I, III Am¡a IV (D) II, III Am¡a IV
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21. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) The early Vedic Aryans lived in the area known as _____ meaning the
area of seven rivers.

àma§{^H$ d¡{XH$ Am¶© bmoJ Cg joÌ ‘| ahVo Wo {Ogo _____ H$hm OmVm Wm, {OgH$m AW© h¡ gmV
Z{X¶m| H$m joÌ&

(b) The main profession of early Vedic Aryans was _____.

àma§{^H$ d¡{XH$ Am¶m] H$m ‘w»¶ ì¶dgm¶ _____ Wm&

22. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) _____, the God of Storm aided Indra in the wars in the way tribesmen
aided their leader in the tribal wars.

ndZ Xod _____, ¶wÕm| ‘| BÝÐ H$s Cgr àH$ma ghm¶Vm H$aVo Wo, O¡go OZOmVr¶ bmoJ OZOmVr¶
¶wÕm| ‘| AnZo Zm¶H$m| H$s ghm¶Vm H$aVo h¢&

(b) _____, the Fire God was the God of the home and was considered an
intermediary between Gods and men.

_____ AmJ Ho$ XodVm Ka Ho$ XodVm Wo Am¡a CÝh| XodVmAm| Am¡a ‘Zwî¶m| Ho$ ~rM ‘Ü¶ñW ‘mZm
OmVm Wm&

23. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The leaders derived their inspiration not from the Western texts and
other sources but from the traditional Indian texts like _____ and _____.

ZoVmAm| Zo AnZr àoaUm npíM‘r gm{hË¶ Am¡a AÝ¶ gmYZm| go Zht ~pëH$ _____ Am¡a _____ O¡go
na§namJV ^maVr¶ J«§Wm| go br Wr&
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24. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The Turks are credited with bringing musical instruments like _____
and _____ into South Asia.

VwH$m] H$mo X{jU E{e¶m ‘| _____ Am¡a _____ O¡go g§JrV dmÚ¶§Ìm| H$mo bmZo H$m lo¶ {X¶m
OmVm h¡&

25. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

(a) Fort William College was founded by _____ in 1801 to train the young
British recruits to the Civil Service in India.

gZ² 1801 ‘| _____ Zo ’$moQ>© {d{b¶‘ H$m°boO H$s ñWmnZm, ^maV ‘| {g{db godm Ho$ {bE ¶wdm
{~«{Q>e a§Jê$Q>m| H$mo à{e{jV H$aZo Ho$ {bE H$s Wr&

(b) Cornwallis succeeded in laying the foundation of a strong liberal
policy in the governance of _____.

H$m°Z©dm{bg _____ Ho$ emgZ ‘| EH$ ‘O~yV CXmaZr{V H$s Ztd aIZo ‘| g’$b ahm&

26. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The Nawab Mir Qasim attempted to reorganize the army and shift the
capital from _____ to _____.

Zdm~ ‘ra H$m{g‘ Zo goZm H$mo g§J{R>V H$aZo H$m à¶ËZ {H$¶m Am¡a CgZo amOYmZr _____ go _____

ñWmZm§V[aV H$s&

27. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Tukaram’s teachings are in the form of the _____ which constitutes
the _____.

VwH$mam‘ H$s {ejmE± _____ Ho$ ê$n ‘| g§J«hrV h¢ Omo _____ H$m {Z‘m©U H$aVr h¢&
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28. Answer the following in one word/one phrase regarding the administrative
institutions of medieval India : 1×2=2

‘Ü¶H$mbrZ ^maV Ho$ àemg{ZH$ g§ñWmZm| Ho$ g§X^© ‘|, {ZåZ{b{IV àíZm| Ho$ CÎma EH$ eãX ¶m EH$
dm³¶m§e ‘| Xr{OE :

(a) Jagirs that were assigned to Zamindars or Rajas in their local
dominions

OmJra| Omo O‘tXmam| Am¡a amOmAm| H$mo CZHo$ ñWmZr¶ à^wËd ‘| gm¢nr OmVr Wt

(b) Jagirs that were given to Muslim nobles in their family towns or place
of birth

OmJra| Omo ‘wpñb‘ Hw$brZ (A{^OmV) H$mo CZHo$ nm[adm[aH$ ZJa AWdm OÝ‘ñWmZ ‘| Xr
OmVr Wt

29. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The Mappilas of Malabar were the descendants of the _____ settlers and
converted _____.

‘mbm~ma Ho$ ‘pßnbm ¶hm± ~g JE _____ Om{V Ho$ bmoJm| Ho$ d§eO Wo Am¡a do Y‘© n[adV©Z H$a
_____ ~Zo Wo&

30. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

(a) Spices exported from India to the Roman Empire included pepper,
also called _____.

^maV go amo‘ gm‘«mÁ¶ H$mo {Z¶m©V hmoZo dmbo ‘gmbm| ‘| H$mbr {‘M© ^r em{‘b Wr {Ogo _____

Ho$ Zm‘ go ^r OmZVo h¢&

(b) The spice trade with the Roman Empire was largely based in _____
India.

amo‘ gm‘«mÁ¶ Ho$ gmW ^maVr¶ ‘gmbm| H$m ì¶mnma ‘w»¶V… _____ ^maV go g§Mm{bV hmoVm Wm&

31. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Decorative styles were usually in the form of calligraphy, _____ figures
and _____ during the Mughal period.

‘wJb H$mb Ho$ Xm¡amZ gOmdQ>r e¡{b¶m± Am‘Vm¡a na gwboI, _____ AmH¥${V¶m| Am¡a _____ Ho$ ê$n
‘| hmoVr Wt&
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Attempt questions either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZm| Ho$ CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

32. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

_____ was a Chagatai Turk who fled patrimonial lands near _____ to
escape Uzbek armies.

_____ MJVmB© VwH©$ Wm Omo CO~oH$ goZmAm| go ~MZo Ho$ {bE _____ Ho$ nmg AnZr nwíV¡Zr O‘rZ|
N>mo‹S>H$a ^mJ {ZH$bm Wm&

33. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

The centuries before the establishment of the Mauryan Empire, the
development of the _____ and _____ kingdoms took place.

‘m¡¶© gm‘«mÁ¶ H$s ñWmnZm go g{X¶m| nhbo H$s Ad{Y Ho$ Xm¡amZ _____ Am¡a _____ H$m {dH$mg
hþAm&

34. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

A daily dramatization of the Sultan’s public self occurred in his _____.
He received guests, ambassadors, allies and taxpayers at his _____.

gwëVmZ Ho$ gmd©O{ZH$ ì¶{º$Ëd H$m X¡{ZH$ àXe©Z CgHo$ _____ ‘| hmoVm Wm& dh AnZo ‘oh‘mZm|,
XÿVm|, ghm¶H$m| Am¡a H$a XoZo dmbm| go _____ ‘| {‘bVm Wm&

35. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

From the 1820s to the 1850s, the British demonstrated a strong urge
to change Indian social institutions, and to _____ India. The Britishers
abolished _____ and eliminated dacoits from the highways.

gZ² 1820 Ho$ XeH$ go 1850 Ho$ XeH$ VH$ {~«{Q>em| Zo ^maVr¶ gm‘m{OH$ g§ñWmAm| H$mo ~XbZo
Am¡a ^maV H$m _____ H$aZo H$s à~b bmbgm {XImB©& {~«{Q>em| Zo _____ H$m CÝ‘ybZ H$a {X¶m
Am¡a amO‘mJm] go S>H¡$Vm| H$mo CIm‹S> ’|$H$m&
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OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

32. Complete the following sentences : 1×2=2

{ZåZ{b{IV dm³¶m| H$mo nyam H$s{OE :

(a) Religion through the ages inspired some of our best poetries and _____.

g{X¶m| go Mbo Am aho Y‘©, h‘mar Hw$N> ~ohVarZ H${dVmAm| Am¡a _____ H$mo ào[aV H$aVo h¢&

(b) Muslim and _____ women in Tamil Nadu usually wear saris.

V{‘bZmSw> ‘| ‘wpñb‘ Am¡a _____ ‘{hbmE± Am‘Vm¡a na gm‹S>r nhZVr h¢&

33. Write True or False : 1×2=2

ghr ¶m JbV {b{IE :

(a) Copying manuscripts was an easy and simple process.

nm§Sw>{b{n¶m| H$s à{V{b{n ~ZmZm EH$ AmgmZ Am¡a gab à{H«$¶m h¡&

(b) Writing called Brahmi is the mother of all modern Indian scripts.

~«m÷r Zm‘H$ {b{n g‘ñV AmYw{ZH$ ^maVr¶ {b{n¶m| H$s OZZr h¡&

34. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

Cotton textiles can be woven on _____ horizontal looms while brocaded
silks required more complex looms with _____ pedals.

gyVr dó _____ j¡{VO H$aKm| na ~wZo Om gH$Vo h¢ O~{H$ OarXma aoe‘ Ho$ {bE _____ n¡S>bm|
dmbo O{Q>b H$aKm| H$s Oê$aV n‹S>Vr h¡&
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35. Answer the following in one word/one phrase : 1×2=2

{ZåZ{b{IV Ho$ CÎma EH$ eãX ¶m EH$ dm³¶m§e ‘| Xr{OE :

(a) A scholar who analyzes material remains of past societies and helps
us to understand them

AVrV Ho$ g‘mO Ho$ ^m¡{VH$ Adeofm| H$m {díbofU H$aZo dmbm Am¡a CÝh| g‘PZo ‘| h‘mar ‘XX
H$aZo dmbm {dÛmZ

(b) Refers to the tendency to want more goods and services than are
actually necessary, sometimes even if these cannot be afforded

dmñV{dH$ Oê$aVm| H$s VwbZm ‘| Á¶mXm dñVwE± Am¡a godmE± MmhZo Am¡a H$^r-H$^r gm‘Ï¶© Z hmoZo
Ho$ ~mdOyX CÝh| nmZo H$s BÀN>m aIZo H$s àd¥{Îm

SECTION–B

IÊS>–I

36. Describe the main points of the aggreement between the Mughals and
Bijapur during Shah Jahan’s reign. 2

emhOhm± Ho$ emgZH$mb Ho$ Xm¡amZ ‘wJb Am¡a ~rOmnwa Ho$ ~rM g‘Pm¡Vo Ho$ ‘w»¶ q~XþAm| H$m dU©Z H$s{OE&

37. Explain the status of women in early Vedic society. 2

àma§{^H$ d¡{XH$ g‘mO ‘| ‘{hbmAm| H$s pñW{V H$s ì¶m»¶m H$s{OE&

Or / AWdm

Why was Kanishka considered as an important ruler of the Kushana
dynasty? Explain.

H${ZîH$ H$mo Hw$fmU d§e H$m EH$ ‘hÎdnyU© emgH$ ³¶m| ‘mZm OmVm h¡? ñnï> H$s{OE&

38. Explain the main features of the Charter Act of 1813. 2

1813 B©0 Ho$ MmQ>©a Eo³Q> H$s ‘w»¶ {deofVmAm| H$m dU©Z H$s{OE&
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39. Fill in the blanks : 1×2=2

[aº$ ñWmZ ^[aE :

In the Third Carnatic War, the British East India Company defeated the
_____ forces at the Battle of _____ ending almost a century of conflict
over supremacy in India.

Vrgao H$Zm©Q>H$ ¶wÕ ‘| {~«{Q>e B©ñQ> B§{S>¶m H§$nZr Zo _____ H$mo _____ Ho$ ‘¡XmZ ‘| nam{OV H$a
{X¶m Am¡a ^maV na à^wËd Ho$ EH$ eVmãXr nwamZo g§Kf© na {dam‘ bJm {X¶m&

40. How have the advances of western ideas across the globe influenced
traditional cultures and social structures in different societies? Explain. 2

Xþ{Z¶m ^a ‘| npíM‘r {dMmam| Zo {d{^Þ g‘mOm| ‘| nma§n[aH$ g§ñH¥${V¶m| Am¡a gm‘m{OH$ g§aMZmAm| H$mo
H¡$go à^m{dV {H$¶m? ñnï> H$s{OE&

Attempt question either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZ H$m CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

41. ‘‘19th century British ideology shaped the governance of India.’’ Explain
the statement with examples. 2

""19dt gXr H$s {~«{Q>e {dMmaYmam Zo ^maV Ho$ emgZ H$mo AmH$ma {X¶m&'' Bg H$WZ H$mo CXmhaUm|
g{hV ñnï> H$s{OE&

OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

41. ‘‘Cultural interaction has led to changes in our food habits.’’ Explain the
statement with examples. 2

""gm§ñH¥${VH$ g§nH©$ Ho$ H$maU h‘mar ^moOZ g§~§Yr AmXVm| ‘| n[adV©Z Am¶m h¡&'' CXmhaUm| g{hV Bg
H$WZ H$mo ñnï> H$s{OE&

42. Describe the features of the Gandhara School of Art. 3

Jm§Yma H$bme¡br H$s {deofVmAm| H$m dU©Z H$s{OE&
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43. Explain the difference between the early Harappan and the mature
Harappan period. 3

àma§{^H$ h‹S>ßnm H$mb Am¡a {dH${gV h‹S>ßnm H$mb Ho$ ~rM A§Va ñnï> H$s{OE&

Or / AWdm

Explain the town planning of the Harappans.

h‹S>ßnm Ho$ bmoJm| Ho$ ZJa-{Z¶moOZ H$s ì¶m»¶m H$s{OE&

44. How did Swami Vivekananda contribute to the Indian Reform Movement?
Explain. 3

ñdm‘r {ddoH$mZ§X Zo ^maVr¶ gwYma Am§XmobZ ‘| {H$g àH$ma ¶moJXmZ {X¶m? ñnï> H$s{OE&

Or / AWdm

Explain Macaulay’s ‘Downward Filtration Theory’. How did it shape the
British approach to education in India? 1+2=3

‘¡H$mbo H$m "S>mCZdS>© {’$ëQ´>oeZ {gÕm§V' go ³¶m VmËn¶© h¡? BgZo ^maV ‘| {ejm Ho$ à{V {~«{Q>e Ñ{ï>H$moU
H$mo {H$g àH$ma AmH$ma {X¶m?

45. How did the Sovietization of Poland contribute to the origins of the
Cold War? Explain. 3

nmob¢S> Ho$ gmo{d¶VrH$aU Zo erV ¶wwÕ H$s CËn{Îm ‘| {H$g àH$ma ¶moJXmZ {X¶m? ñnï> H$s{OE&

Or / AWdm

How did the Suez Crisis of 1956 stem from the strategic and economic
importance of the Suez Canal?

1956 H$m ñdoO g§H$Q> ñdoO Zha Ho$ gm‘[aH$ Am¡a Am{W©H$ ‘hÎd go H¡$go CËnÞ hþAm?

46. How did religion-based nationalism shape two distinct forms of political
mobilization in the 20th century? Explain. 3

20dt eVmãXr ‘| Y‘©-AmYm[aV amï´>dmX Zo amOZr{VH$ bm‘~§Xr Ho$ Xmo AbJ-AbJ ê$nm| H$mo {H$g àH$ma
AmH$ma {X¶m? ñnï> H$s{OE&

47. Explain the causes of the First World War. 3

àW‘ {díd ¶wÕ Ho$ H$maUm| H$s ì¶m»¶m H$s{OE&
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48. Explain the role of revolutionaries of Punjab and Bengal in the Freedom
Struggle of India. 5

^maV Ho$ ñdV§ÌVm g§J«m‘ ‘| n§Om~ Am¡a ~§Jmb Ho$ H«$m§{VH$m[a¶m| H$s ^y{‘H$m H$s ì¶m»¶m H$s{OE&

Or / AWdm

Explain the expansion of the revolutionary movement beyond the shores
of India.

^maV H$s gr‘mAm| Ho$ ~mha H«$m§{VH$mar Am§XmobZ Ho$ {dñVma H$s ì¶m»¶m H$s{OE&

49. Explain the similarities in the teachings of Bhakti Saints in North India. 5

CÎma ^maV Ho$ ^{º$ g§Vm| H$s {ejmAm| ‘| g‘mZVmAm| H$s ì¶m»¶m H$s{OE&

Or / AWdm

‘‘The teachings and philosophy of Guru Nanak Ji form an important part
of Indian philosophical thought.’’ Explain the statement.

""Jwé ZmZH$ Or H$s {ejmE± Am¡a Xe©Z ^maVr¶ Xme©{ZH$ qMVZ H$m EH$ ‘hÎdnyU© {hñgm h¡&'' Bg H$WZ
H$s ì¶m»¶m H$s{OE&

Attempt question either from Module 6A or 6B :

‘m°S²>¶yb 6A Am¡a 6B ‘| go {H$gr EH$ Ho$ àíZ H$m CÎma Xr{OE :

OPTION MODULE—6A

d¡H$pënH$ ‘m°S²>¶yb>—6A

50. How did Benito Mussolini contribute to the emergence and spread of
fascism in Italy? Explain. 5

~o{ZVmo ‘wgmo{bZr Zo BQ>br ‘| ’$m{gñQ>dmX Ho$ CX¶ Am¡a àgma ‘| {H$g àH$ma ¶moJXmZ {X¶m? ñnï> H$s{OE&

OPTION MODULE—6B

d¡H$pënH$ ‘m°S²>¶yb>—6B

50. Explain briefly how our culture is shaped through a process of interaction. 5

h‘mar g§ñH¥${V {H$g àH$ma nañna {H«$¶m H$s à{H«$¶m go AmH$ma boVr h¡? g§jon ‘| g‘PmBE&
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51. Mark the following on the outline map of India : 1×5=5

 (i) Extent of Pallava Empire (ii) Thanesar

(iii) Prayaga (iv) Mohenjo-daro

(v) Banawali

^maV Ho$ aoIm‘mZ{MÌ na {ZåZ{b{IV H$mo {M{•V H$s{OE :

(H$) n„d gm‘«mÁ¶ H$m {dñVma (I) WmZoga

(J) à¶mJ (K) ‘mohZOmoX‹S>mo

(L>) ~Zmdbr

Note : The following questions are for the visually impaired candidates only in
lieu of map-based Question No. 51. 1×5=5

{ZX}e : {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©¶m| Ho$ {bE ‘mZ{MÌ na AmYm[aV àíZ g§»¶m 51 Ho$
ñWmZ na h¡&

(i) Name the kingdom in Andhra Pradesh ruled by Mahendravarman
(AD 600–630) and Narasimhavarman I (AD 630–668).

Am§Y« àXoe ‘| ‘h|Ðd‘©Z (600 go 630 B©0) Am¡a Zaqghd‘©Z I (630 go 668 B©0) Ûmam em{gV
amÁ¶ H$m Zm‘ ~VmBE&

(ii) Where was Harsha’s capital before he shifted to Kannauj?

hf© H$s amOYmZr H$Þm¡O ñWmZm§V[aV hmoZo go nhbo H$hm± Wr?

(iii) What is the other name of Allahabad?

Bbmhm~mX H$m Xÿgam Zm‘ ³¶m h¡?

(iv) Name the Harappan site excavated by R. D. Banerji.

Ama0 S>r0 ~ZOu Ûmam CËI{ZV h‹S>ßnm ñWb H$m Zm‘ ~VmBE&

(v) Name the Harappan site where a terracotta plough has been
discovered.

Cg h‹S>ßnm ñWb H$m Zm‘ ~VmBE Ohm± Q>oamH$moQ>m hb H$s ImoO H$s JB©&








Roll No.

AZwH«$‘m§H$



Attach this map with your answer-book

Bg ‘mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$a|
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